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Topic:- GP_SetZ _C
1) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage™. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity,
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The commeon culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration, Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linked the people to commeon traits, There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi, Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable,
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India’s cultural diplomacy is centered around
(A) Ramayan
(B} Multilateral engagements
(C) Business Promotion
(D) People to people contacts
Choose the correct answer from the options given below :
(1) (A) and (D) only (2} (A), (C) and (D) only

(3) (B}, (C) and (D) only (4) {(B) and (D) only
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[Question ID = 3557][Question Description = Q46_GP_20NOV_52_SHAAN_Shift2]
1. 1

[Option ID = 13691]
%2

[Option ID = 13692]
3.3

[Option ID = 13693]
4, 4

[Option ID = 13694]
2) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere, India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
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people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit, The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts, People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions, The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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The common thread binding India and South East Asian Countries is/are
(A) Buddist tenets

(B) Yoga

(C) Cricket

(D} Ramayan

(E) Sanskrit

Choose the correct answer from the options given below :
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(1) (A) only  (2) (A), (B), (C} and (D) only
(3) (A) and (D) only  (4) (A), (B), (D) and (E) only
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[Question ID = 3558][Question Description = Q47_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13695]
2. 2 [Option ID = 13696]
3. 3 [Option ID = 13697]
4. 4 [Option ID = 13698]

3) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’'. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity,
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore, The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplemacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration, Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi, Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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Which of the following is not reflective of India’s soft power status?
(1) Digital India  (2) Skill India

(3) Business Promotion (4) Yoga Diplomacy
freafafiaa § @ i wra 9z wfe-feaf = el 78 = 27

(1)  Tsfes e (2) FIA URA
(8)  AUR-HeEA (4) aA-meifa

[Question ID = 3559][Question Description = Q48_GP_20NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 13699]
2. 2 [Option ID = 13700]
3. 3 [Option ID = 13701]
4. 4 [Option ID = 13702]

4) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.,
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions, The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela

and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable,
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Cultural exchanges amongst the member nations of the Shanghai Cooperation Organisation are in the following fields :
(A) Archeology
(B) Folklore
(C) Tourism
(D) Yoga
(E) Education
Choose the correct answer from the options given below :
(1) (A), (), (D} and (E) only  (2) (A), (B}, (C} and (E} only
(3) (A), (B) and (E) only (4} (B}, (C), (D) and (E) only
TS i - ST AT F TG G2 o1 TR STeH-gH e &= 7 87

(A) Tua™
(B) TR
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H2 i e fTwen ¥ 9 o T = iR

(1)  F&E Q). (), (D) 3k (E) (2) FFF (A). (B). (C) 311 (E)
8) = (A, (B) R (E) (4) =as (B). (C). (D) 3k (E)

. [Question ID = 3560][Question Description = Q49_GP_20NOV_S2_SHAAN_Shift2]
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. 1 [Optien ID = 13703
2 [Option ID = 13704
3 [Option ID = 13705
. 4 [Option ID = 13706
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5) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere, India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration, Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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The passage highlights
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(1) The emergence of India as a super power

(2) The role of culture for peace and harmonious relations with other countries

(3) India’s cultural hegemony

(4) India’s relations with BRICS countries

TETT ST He

(1)
(2)
(3)
(4)

YT 1 TEMIRE % &9 0 3195

U =61 Toad 230l & g1 99y

[Question ID = 3561][Question Description = Q50_GP_20NOY_S2_SHAAN_Shift2]
1. 1 [Option ID = 13707]
2. 2 [Option ID = 13708)
3. 3 [Option ID = 13709
4. 4 [Option ID = 13710]
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Topic:- GP_Set2_A

1) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data

Freifpa aifers =1 s O 26 o ue faghar < g0 S 2019 o fRgrex 2019 o 5= e fef o
= fergor <t fesar qon HP 31k DELL #=afaat * aum saty 5 foghig el gt % = =1 stqum
aerrn T 21 sE st A fosfia mdt Sl st B 3o deEn 45,000 (Yarfam gER) 21 arfeem 8 fao
ITTHE = ST 9G¥ =1 I 4

contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Dastribution HP to DELL

July 17% 8:7
August 22% 4:5
September 25% 32
October 8% 115
November 12% 7:8
December 16% 7:9

Frsft @mornt =t ArfteR-fera 1 e
q1e st @Rt = e
o i ufawaar HP 317
DELL =i
PIGEIGG
TS 17% 8:7
ST 929% 4:5
faamR 25% 3:2
ITFEH 8% fig
qATEH 12% 7:8
femm=m 16% 7:9
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What is the ratio of the number of PCs sold of Company DELL during July to those sold during December of the same

company?
(1) 119 ;145 (2} 116 : 135
(3) 119 : 135 (4)119: 130

DELL %=t % gr1 Jan o fursr § 32 13 BfS gt #it gen o o a1 27

()  119:145
(3 119:135

(2) 116
4 119

: 135
- 130

[Question ID = 3562][Question Description = Q01_GP_20NOV_S2_SHAAN_Shift2]

1. 1 [Option ID = 13711]
2. 2 [Option ID = 13712]
3. 3 [Option ID = 13713]
4. 4 [Option ID = 13714]

2) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data

contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
August 22% 4:5
September 25% 3:2
October 8% T ¥B
November 12% 7:8
December 16% 7:9

Freifpa aifers =1 e o 2 oo o fagear = g0 e 2019 o fRgrax 2019 % == e Ff g
% farawor it wfaeraar qoar HP it DELL %=t % aum sty § fafi it @t % g =1 s
gz 7 3| gt st A ffig @it Pl ol B e @oE 45,000 (Garfee geR) 21 @il 3 fi o

ITTFHE = YU T AT T SR S

st TRt =t mifeE-Taws w1 fa

foraror =6t i HP 2t

DELL #i

PIGERG

Sl 17% 8:7
IR 22% 4:5
faamsr 25% 3:2
FHEI 8% 7:5
e, 12% 7:8
femm 16% 7:9

If 35% of the PCs sold by Company HP during November were sold at a discount, then how many PCs of Company HP during

that month were sold without a discount?
(1) 882 (2) 1635
(3) 1638 (4) 885

PR g W HP %00 o 35% el woors g W e a3 wee 7 HP et % e B o

o =7 A A= T ?
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(1) 882
(3) 1638

(2) 1635

(4) 885

[Question ID = 3563][Question Description = Q02_GP_20NOV_52_SHAAN_Shift2]

1. 1 [Option ID = 13715]
2. 2 [Option ID = 13716]
3. 3 [Option ID = 13717]
4. 4 [Option ID = 13718]

3) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together 1s 45000. Based on the data

contained in the table, answer the question

Month-wise Dhistribution of Sale of PCs
Month Sale of PCs
Percentage (%) Ratio of
Dastribution HP to DELL

July 17% BT
August 22% 4:5
September 25% a2
October 8% i D
November 12% 7:8
December 16% 7:9

Freifpa aifess =1 e o 2 o oo faghar < g0 S 2019 o fRgrax 2019 % w9 e ff g
% feraor it wfwaan qan HP 2t DELL #=af¥i = g9 aty § faghia Bl @i % ot =1 erum
gz 7 21 gt s A g @t Bl @R B e woE 45,000 (Tafee geR) 21 At 3 i o

ITFHS T YU T AT T S| S

fisft @moert =t AfEeR-fesa #1
g el worRl 5 o
feraor b1 wfemraar HP =it
DELL #i
PIGERGI
Bl 17% 8:7
T 22% 4:5
faamsr 25% 3:2
TFZI 8% T+D
e 12% 7:8
feamaw 16% 7:9

prepp
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If the dealer earned a profit of Rs, 433 on each PC sold of Company DELL during October, then what was his total profit
earned on the PCs of that company during the same month?

(1) 6,49,900 (2) 6,45,900
(3) 6,49,400 (4) 6,49,500

IR TgE R DELL %ot % fossan o wess Al womrs W %, 433 =1 o Win BR O 39 9e

T farshar =i Tenaam @y fien ?

(1) ¥ 6.49,900
(3) ¥ 6,49,400

(2) T6,45,900
4) 6,49,500

[Question ID = 3564][Question Description = Q03_GP_20NOV_52_SHAAN_Shift2]
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. 1 [Option ID = 13719]

2 [Option ID = 13720]
3 [Option ID = 13721]
. 4 [Option ID = 13722]

oW

4)  Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data

contained in the table, answer the question

Month-wise Distrbution of Sale of PCs
Month Sale of PCs
Percentage (%) Ratio of
Dastribution HP to DELL

July 17% BT
August 22% 4:5
September 25% 3:2
October 8% e
November 12% 7:8
December 16% 7:9

Freifpa aifess =1 e o 2 o oo fagear < g0 S 2019 o fRgrex 2019 % 5= e Fef g
% farawor St wfaeraar qoar HP it DELL %=ttt % aum sty § fafig it @t % ot =1 s
gz 7 21 gt s A g @it Bl o B e @oE 45,000 (Gafee geR) 21 At 3 i o

ITFHS T YU T AT T S| S

fistt TRt =t mifeE-Taws w1 fa

g 3l worRl 5 T
foraror =6 wfcera HP =it
DELL #i
PIGERGI
Bl 17% 8:7
T 22% 4:5
faamsr 25% 3:2
FTFZS 8% 7:5
e 12% 7:8
feamaw 16% 7:9

prepp
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The number of PCs sold of Company HP during July is approximately what percent (%) of the number of PCs sold of Company

HP during December?
(1) 110% (2) 140%
(3) 150% (4) 130%

FeTE % WaH ¥ HP %0t % g o= e sl arorst f gen foawen % wdd 8 HP #9065 g &9

Tt wrrort Y wen w1 e ataea 27
(1) 110%
(3 150%

(Z2) 140%
(4) 130%

[Question ID = 3565][Question Description = Q04_GP_20N0OV_52_SHAAN_Shift2]

1. 1 [Option ID = 13723]
2. 2 [Option ID = 13724]
3, 3 [Option ID = 13725]
4. 4 [Option ID = 13726]

) Consider the following table that shows the percentage (%) distribution of the number of

A

o e 1
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What is the total number of PCs sold by Company DELL during August and September together?

OlS0MIAL VOILLPULCES (Dwad) SULA 9Y o QOalC)l 10O ULy L0 DMOCCLIIDCE- WU 1T d1la FatlQ DOLwWeCIlL
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together 1s 45000. Based on the data

contained in the table, answer the question

Distib Q of PCs
Month Sale of PCs
Percentage (%) Ratio of
Dastribution HP to DELL

July 17% 8:7
August 22% 4:5
September 25% 32
October 8% TR
November 12% 7:8
December 16% 7:9

Freifpa aifersr =1 s o 2 oo o faghan < g0 S 2019 o fRgrex 2019 % s e el o
% feraor it wfdwraar @an HP =it DELL #=f3= * a9 ety § fafia fsh gt % o= =1 s
Ferar T 3| gt st J frfig @t Bl @Rl i e @oE 45,000 (Tafee geR) 21 @t 3 i o

ITHE & YR T AT T SR S

st TRt =t mifeE-Taws w1 fHaw

feraror =6 i HP =it

DELL #i

BIGERGI

s 17% 8:7
I 22% 4:5
faamsr 25% 3:2
FTFZS 8% 7:5
ECTS 12% 7:8
feamaw 16% 7:9

(1) 10000 (2} 15000
(3) 10500 (4) 9500

3 U e g AgAi 3 DELL F501  gH1 o9 710 e (sl SorRl 1 5 9 27

(1) 10000

(3) 10500

(2)
(4)

15000

9500

[Question ID = 3566][Question Description = Q05_GP_20M0V_S52 SHAAN_Shift2]

1.

1

[Option ID = 13727]
2

[Option ID = 13728]

S

[Option ID = 13729]
4

[Option ID = 13730]

prepp
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Topic:- GP_SetZ2_B

1) In which level of teaching promotion of critical thinking is the hall mark?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

finequr & f3rE TR W ST famad & 3999 i Ta9T Ta Sl 2 7

(1) wd &R (2) FEE TR
(3 fomfi-fomm = @) ware frem 'R

[Question ID = 3567][Question Description = Q06_GP_20NOV_52_SHAAN_Shift2]
. 1 [Option ID = 13731]
2 [Option ID = 13732]
3 [Option ID = 13733]
. 4 [Option ID = 13734]

oW 2 =

2) The key behaviour of an effective teacher is marked by which of the following features? (A) Structuring (B) Teacher
task orientation (C) Instructional Variety (D) Lesson clarity (E) Probing Choose the correct answer from the options given
below :

(1) (A), (B) and (C) only (2} (A), (C) and (D) only
(3) (B), (C) and (D} only (4) (C), (D) and (E) only

frtefiga fafSrearert & 2 47 a1 =gagr yarEh feas = v T 27

(A) T
(B) Trers-wr-gaifimeiwm
(C) rgew fafaaar

(D) WIS-TEa

(E) Ysd=
A= g v eyl 4 9 9 I w1 = i

1) == (A), (B) IR (C)
2 ¥ (4), (C) R (D)
(3 =@ (B). (C) sk (D)
@ %= (0), (D) 3 (E)

[Question ID = 3568][Question Description = Q07_GP_20NOV_52_SHAAN_Shift2]
1. 1

[Option ID = 13735]
2. 2

[Option ID = 13736]
3.3

[Option ID = 13737]
4, 4

[Option ID = 13738]

3) Match List | with List 1l gives their characteristic features.

List | List Il

(Modes of Evaluation) (Characteristic Features)

(A) Formative Evaluation (I} Compares one student with another student

(B} Summative Evaluation (ll) Compares the progress of a student against prespecified standards

(C) Criterion-referenced Evaluation (llI) Used primarily for motivational and monitoring purposes of learning
(D) Norm-referenced Evaluation (V) Used primarily for gradation of progress made

Choose the correct answer from the options given below :

(1) (A)-(V), (B)-(ND), (C)-(1), (D)-(1)  (2) (A)-(ll1), (B)-(IV}, (C)-(11), (D)-(I)
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(3) (A)-(I), (B)-(), (C)-(1IM), (D)-(IV)  (4) (A)-(l}, (B)-(1), (C)-(I¥), (D)-(lIT)

g1 % ot ef-IT 1 forer <Biform) o et mern o foftm wgfedl oY 2, o qudt o v i
woon 3| g1 wd g1 o faer ol

-1 T=-11
TEATFA-TgH TIEH-TE
(A) Tmivreas gear @ s faemf H g fnsfi @ gomn s 2
(B) TheHTCH® GoATehA I wr fgeefil H gonm @ Fufa = @
-l 2|
(C) T welta yeaisA (IID) wuwa: Aferm < arfimon @ A9 %
ELAE R
(D) WA TEifa gears av) vuma: Frow iy % defeor 29 ww
T 31

Hie B 7o ool 8 @ w0 3ot @ e Hifvo

1) @-Av). B-dIDh. (O-D). (D)-dD)
2  (A-AID. B)-aV). (CO-AD. (D)-(D
@)  @A-dDh. @)-d@). (O)-d1l). (D)-IV)
@ A0, B)-1D), (C)-(IV), (D)-dID)

[Question ID = 3569][Question Description = Q08_GP_20N0V_52_SHAAN_Shift2]
1. 1 [Option ID = 13739]
2. 2 [Option ID = 13740]
3. 3 [Option ID = 13741]
4, 4 [Option ID = 13742]

4) Given below are two statements :

Statement | : One of the basic principles of progressive view of teaching is that education should be life itself rather than a
preparation for living.

Statement Il ; According to reconstructionist view of education the new social order must be ‘genuinely democratic’,

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement |l is false, (4) Statement | is false but Statement Il is true.

Rasmfems:

% (@) : foraror = wmft (yfeeiier) gfesior =1 o wea fagra @ B fen Faw awfifye 6
Pt TE g A ST e ¥ wepet S aE

= (1D) : foren % yAfmoETE R g/ % oER =it i saeem fifvee =9 O gt
T =T

I Y = Al 1, 9 RT e famedl § A 98 3T 1 == it ;

(1) = (D) 3 A 2w

2 = (1) 3t JD) eHT sEe

(3 WA () uF 2, S w9 (I1) 28T 2
(@) = () 59 2, 9 w5 (D g3 2

[Question ID = 3570][Question Description = Q09_GP_20N0OV_52_SHAAN_Shift2]
1 [Option ID = 13743]
2 [Option ID = 13744]
3 [Option ID = 13745]
4 [Option ID = 13746

oW R

5) Given below are two statements ; One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : ‘Teaching’ involves critical and creative interchanges between teacher and learner and hence it is different
from ‘instruction’ and ‘training’,
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Reason (R) : Both ‘instruction’ and ‘training’ are directed at lower order cognitive interchanges.
In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).
(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct,

4 g wum fou e 2 o orfimmem (Assertion A) F w9 ¥ fafga 2 @ Gy 3T FIOT (Reason R) &

=4 H

SRR (A) | forgm, Mrgw wa sfRrmrdl & A wligors @ waes falEn s geEie
A 2, G A RN TE aier § i 2

7 (R) ‘e’ T diErEer gHl g HyHenes -8 % 1 T W A= g §)

SWITh B % S °, 919 v T fedl § U 999 SR SR W A il

(1) (A) 3 R) AT T F oft R). (&) F gdt = 2

2 (AR @®) A T E, R R). (A) F T = T R

(3 (A TR 2, dfe (R) ad 78 2

@ QuEETEe RS R

[Question ID = 3571][Question Description = Q10_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13747]
2. 2 [Opticn ID = 13748]

3. 3 [Option ID = 13749]
4. 4 [Option ID = 13750]

6) In which of the following researches, attempts are made to establish context-free generalizations?
(1) Phenomenology (2) Grounded theory
(3) Symbolic interactionism (4) Experimental Studies

freafafiga oiul § @ et s a=fiem 6 some 3 v fee g 27
(1) AT - 37 -gard (2) o Tagra
(3)  TiHIcHS IR (4) TATIIEHE AT

[Question ID = 3572][Question Description = Q11_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13751]

2. 2 [Option ID = 13752]

3. 3 [Option ID = 13753]

4. 4 [Option ID = 13754]

7) Identify the main features of ‘qualitative research’ from the following :

(A) It is concerned with understanding the phenomena from the participant’s perspective
(B) It assumes that there are social facts with a single objective reality

(C) Researcher becomes immersed in the situation, present or past

(D) Researcher is detached from the study to avoid bias

(E) There is greater flexibility in both the methods and research process

Choose the correct answer from the options given below :

(1) {A), (C) and (E) only (2} (A), (B) and (C) only

(3) (B), (C) and (D) only {(4) (C), (D) and {E) only

et < et fertwanatt 4 @ e wa <6 ggwE W)

A =g wfewrft & ftie @ wew % ey | vl 21

(B)  35® TE WA AT 2 WHITSF a4 Fad Uk aegig 7y | 93 3 2
(© el s W syt aRfeufEt § e s 2

(Dy  wtersf qEig @ s % TAT T 3 o TSR W QW S )
(B) 389 woneht @ @a-wifthar <At & wrefien g 2

=l f2u 7e foemedl 9 © wEt 99t =R == whif

(1) =ad (A), (O) 3R (B)
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2  Fa (), B) 37 (O)
(3) @™ (B), (C) 3R (D)
@)  %ad (C), (D) 3K (E)

[Question ID = 3573][Question Description = Q12_GP_20M0V_S52 SHAAN_Shift2]
1. 1 [Option ID = 13755]
2. 2 [Option ID = 13756]
3. 3 [Option ID = 13757]
4, 4 [Option ID = 13758]

8) Match List | with List Il :

List | List Il

Methods of research Features emphasized

(A) Experimental (I} Primary and secondary sources tapped with emphasis on internal criticism
(B} ExPost Facto (ll) Status of facts and conditions are ascertained

(C) Descriptive (I} A variable is manipulated to see its effect on other variable

(D) Historical (IV) The differences are noted and factors causal or otherwise are determined
Choose the correct answer from the options given below :

(1) (A}-(1), (B)-(I), (C)-(IN), (D}-(IV) (2} (A)-(I1}, (B}-(1}, (C)-(IV), (D)-(lil)

(3) (A)-Ql1}, (B)-(IV), (C)-(1), (D)=(1)  (4) (A)-(IV), (B)-(1l1}, (C}=(1), (D)-(IN)

=1 % a1 -1 = e it
I THLIT
e TgiaEt w7 fostaard
(&) TR @) sI=afer TAeE T AE 28 50 wefE o
Todta =ial =1 wuE 2ian 2]
(B) AR D) uliferfeat wa qen A feafq gRfvaa 6
AR 2
(©) aFTTH D) TW =R | ¥9E 38 % fog o WA W
T s 2
D)  fcEEs @) fg =1 Tow 0 g AR seE o=
ICh G P 5 3

fr3 ffu 7o fepedl A 9 T3 I W 99 Hie

1 (A-D. B)-ID). (O)-(IID). (D)-{IV)
2 AXAD. (B)-1D). (O)-IV). (D)-dIL)
(3)  (A)-d1), (B)-IV). (C)-(D). (D)-I)
4  (A)-AV). B)-I), (C)-D), (D)D)

[Question ID = 3574][Question Description = Q13_GP_20M0V_52 SHAAN_Shift2]
1. 1 [Option ID = 13759]
2. 2 [Option ID = 13760]
3. 3 [Option ID = 13761]
4, 4 [Option ID = 13762]

9) Given below are two statements :

Statement | : Data analysis in research being a technical job, ‘research ethics’ does not matter,
Statement Il : ICT is helpful almost at all stages of research.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement |l are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

P9 () : FTEYE B Ten-faTeiuvr ©h a9kl B EH % BR0 CSHEaH- STERE SR
TEwEgY T3 2
5 (10) : STTEYT % T T =1 H o1, 1.3, weees w2

SUURH e = TR 4, A 13U 1y faesedt o o @€l s w5 == it
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M (1) 1R (ID) 31 A 3
FHIT (1) 5 (II) =T 315eq &
%o (1) 9ea 2, afe =9 (1D 397 §

A (1) 315 2, s F9a (1) T &

[Question ID = 3575][Question Description = Q14_GP_20NOV_S$2_SHAAN_Shift2]
1, 1 [Option ID = 13763]
2. 2 [Option ID = 13764]
3. 3 [Option ID = 13765]
4. 4 [Option ID = 13766]

10) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : When Null Hypothesis (HO) is rejected, researcher’s hypothesis (H1) is accepted.

Reason (R) : Null Hypothesis (HO) is a chance hypothesis and as such (H1) being true, the researcher’s hypothesis lies in the
domain of acceptability.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct.  (4) (A) is not correct but (R) is correct,

=t @ e fqu e € : o AfUR (Assertion A) % ¥ # fafad § @ 59U U *R0 (Reason R)

.
I H G

st (A) : v FeRfE giEew (Tho) SR & SR 2 T SITEUTRal 1 ARERedH

(wa;) Wi g I 2

s R): el ufereamr (w=l) o apifies aftpeur 2 3 oar (o) o9 8 % %R

FTEFERAL W e Tt 1y § e sl R

SWRITE AT % T ®, A= G T faeql § 3 999 SWRE ST W 99 Shifee

(1)
@)
(3)
€]

(A) 3R R) T & E oft (R), (A) 1 =t =ame 2

&) 3R (R) I =, 9FT ®), () I w9t = T 2
(A) wE 2, ot (R) 76l T &

&) 7@ T 2, afkT ®)Tdi 2

[Question ID = 3576][Question Description = Q15_GP_20NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 13767]
2. 2 [Option ID = 13768]
3. 3 [Option ID = 13769]
4. 4 [Option ID = 13770]

11) Which of the following is an exclusive example of Non-verbal cue that includes the pitch, rate, volume and use of

pauses?

(1) Linear Model of Communication (2} Interactional Model
(3) Non-Verbal Cues (4) Para-Language

frafafaa § @ =9 oA 9 o oA 3o @ R sis-ae (fm), & (@), 9 (aream)
it formm (97 @ w= e 27

(1
(3

T i Hise (2) TARME "Tgid
TR T (4) U =T

[Question ID = 3577][Question Description = Q16_GP_20NOV_S2_SHAAN_Shift2]

o =

. 1 [Option ID = 13771]
2 [Option ID = 13772]
. 3 [Option ID = 13773]
. 4 [Option ID = 13774]
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12) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : In the context of communication, the perceptual process creates, semantic-noise also called word-noise.
Reason (R) : The various meanings either cannotative or denotative are sources of semantic noise.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of {A).

(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

I o7 Y fou e 2 ;v AU (Assertion A) F w9 ¥ foflem § @1 oo 0% FR (Reason R) #
A

SRR (A) TGN F TEH § STAUNUTNT UER Tiea® &AM Scaiea Fdl 2 ol Iiees -1k
(TS—ara=) F=d 3

T (R) : TN A1 aqad™ Sl = [a19= 51901 % G Aiees -7 21 21

STRE FUA % A 5, 1 f5e 7o el § ¥ 999 39w S B 99 e

1) (A) ¥R ®R) T TE E R (R). (A) Fi wE = 3

2 Q) 3R R) A I E, I (R), (A) F @ e =E 2

(3) (A wE g, A (R) wal & 2

@ (A= R, @ ®) w6 2

[Question ID = 3578][Question Description = Q17_GP_20N0OV_52_SHAAN_Shift2]

1.1

[Option ID = 13775]
2.2

[Option ID = 13776]
3.3

[Option ID = 13777]
4. 4

[Option ID = 13778]

13) Given below are two statements :

Statement | : Appropriate word choice is an essential of effective oral communication.

Statement Il : Facial expression and postures fall under visual communication.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement |l are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

R wmfiem s
F5 (D) - Turel a1fees T 2g W WRG1 F A SETIE B
w5 (ID) : tifiges are T Wi gTA-EEme % st 2

ITF A & e 7, 919 G v et 8 o wdt s w1 waa i

(L) = (1) SR (D) I 7 &
2) A (D) 3 3D gF1 1w €
3) = (D) §F B, < w9 (1) e 2

(4) = (D) ey 2, S wue (D) 9w 2
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[Question ID = 3579][Question Description = Q18_GP_20NOV_S$2_SHAAN_Shift2]
1. 1 [Option ID = 13779]
2. 2 [Option ID = 13780]
3. 3 [Option ID = 13781]
4. 4 [Option ID = 13782]

14) ldentify the barriers to communication from the list given below :
(A) Time and distance

(B) By-passed instructions

(C) Encoding of thoughts and ideas

(D) Decoding of thoughts and ideas

(E) Logical sequence

Choose the correct answer from the options given below :

(1)} (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (D) and (E) only

Adifafas gt & & T A e # veEE -
() TE AR Ed
B) uiEa g

(C) u= g e =i feag w

(D) @@ T oo =l gz g F
(E) il 3

4 fiw 7 fo=ed § @ w91 SR W 9 ik

1) =99 (4) 3R (B)
(2) == (B) 3R ()
(3 ¥ (O) ¥R (D)
@ a9 (D) 3R (E)

[Question ID = 3580][Question Description = Q19_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13783]
B

[Option 1D = 13784]
£

[Option ID = 13785]
4, 4

[Option ID = 13786]

15) Match List | with List Il :

List | List Il

Types of Communication Main features

(A) Downward Communication (I) Grows primarily to meet organizational/member’s need for communication
(B) Upward Communication (I} It forms a useful link in decision making for task coordination

(C) Horizontal Communication (lll) Provides management with feedback about current issues and problems
(D) Grapevine Communication (IV) It is the most common communication system in an organization

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(I), (C)-(IV), (D)-(111)  (2) (A)-(I1), (B)-(I), (C)-(NI), (D)-(IV)

(3) (A)}-(1I}, (B)-(1¥), (C)-(1), (D}-(11)  (4) (A)-(IV), (B)-(1II}, (C)-(lI}, (D)-(1)

g1 % = glt-11 = frem =hifsm
g1 Fi-11
OO % TFR T fameand
(A) e e () H&M % TS H "EEu il SAETEhar B
0w H o TgEa @ wga B
(B) sufemdt dsuoy A1) =rE-gu=E g Fom &1 0w saEEh

HIEOH ==TET 21
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(C) &t mezm A1) =mwH e v wmenat f afagfE & ay
=g T B

(D) Tq—STST T (IV) Trdt ff gen w1 3% gd-um= gEigo
T 2

4 fim o ew 8 @ UE ST = S

(1)  A-D. B)-D), (C)-(IV), (D)-(IL)
2  @-ADh. B)-. (O-A1D). (D)-AV)
3  A-AID, B)-AV). (O)-(D. O)-AD
4  (A)-IV). (B)-), (C)-(1I), D)-(D

[Question ID = 3581][Question Description = Q20_GP_20NOVY_S2_SHAAN_Shift2]
1. 1 [Option ID = 13787]
2. 2 [Option ID = 13788
3. 3 [Option ID = 13789]
4. 4 [Option ID = 13790]

16) If the cost price is 25% of selling price, then what is the profit percentage?
(1) 100 (2) 200
(3) 300 (4) 400

afg FAgea, faFagea = 25% & a1 org 6 sfawaa s31 8 7

(1) 100 (2) 200
(3) 300 (4) 400

[Question ID = 3582][Question Description = Q21_GP_20NOY_S2_SHAAN_Shift2]
1. 1 [Option ID = 13791]
2. 2 [Option ID = 13792]
3. 3 [Option ID = 13793]
4. 4 [Option ID = 13794]

17) A seller mixes 26 kg rice of a price of Rs. 20/kg, with 30 kg of different variety rice of a price of Rs. 36/kg. He sells
both the mixed rices at Rs. 30/kg. What will be the profit in percentage?

(1)5% (2)10%

(3) 15% (4) 20%

us feghar 26 et et 5. 20/Fhent % ot W wilis = 3@H g wR 1 30 Rl =ew fien 3 @ T
354 & 36/FRe % R W witE ar 9k 3@ v i g e W 30/fee % @ W s 31 59

it Tfererat @91 T 7
(1) 5% (2) 10%
(3) 15% (4) 20%

[Question ID = 3583][Question Description = Q22_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13795]
2. 2 [Option ID = 13796]
3. 3 [Option ID = 13797]
4. 4 [Option ID = 13798]

18) A milk man purchases milk at Rs. X per litre and sells it at Rs. 2X per litre. Still he mixes 2 litres of water with every 6
litre of pure milk, What is his profit percentage?

(1) 33.33  (2) 66.66

(3) 133.33  (4) 166.66

ww gru-fisea T, X/ % @ W 39 wlg F 3. 2X/R F R W A= 2| aeE6g 39 98 2 S an
ST 6 TeX W 39 A e Zan 2| Seeh e it i w27

(1) 33.33 (2) 66.66
(3) 133.33 (4) 166.66

[Question ID = 3584][Question Description = Q23_GP_20NOVY_S2_SHAAN_Shift2]
1. 1 [Option ID = 13799]
2. 2 [Option ID = 13800
| 3. 3 [Option ID = 13801]
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| 4. 4 [Option 1D = 13802]

19) The average monthly income of P and Q is Rs. 5,050/-. The average montly income of Q and R is Rs. 6,250/- and that
of P and R is Rs, 5,200, What will be the monthly income of P?

(1) Rs. 3,000/- (2) Rs. 3,500/-

(3) Rs. 4,000/- (4) Rs. 4,500/-

P ot Q i sitea aifles s1m 5050 03 2, Q it R it sfiga 9ifis a9 6250 94 asn P ofit R &6

sitea T\ 5200 393 21 P i arfes o fnad 2 v

(1)  3.000/- ¥ @)  3.500/- ¥

(3)  4.000/- %93 (4)  4,500/-¥3

[Question ID = 3585][Question Description = Q24_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13803]
2. 2 [Option ID = 13804]
3. 3 [Option ID = 13805]
4. 4 [Option ID = 13806]

20) The average of 4 terms is 20, and the first term is 1/3rd of sum of the remaining 3 terms. What will be the value of
first term?

(1) 15 (2) 20

(3) 25 (4) 30

4 Tl F SftET 20 & T ISl HEat T 3 e & A W 1/3 2| USell wem % 0 a2 ¢

(1) 15 2 20
(3) 25 4 30

[Question ID = 3586][Question Description = Q25_GP_20M0V_S52 SHAAN_Shift2]
1. 1 [Option ID = 13807]
2. 2 [Option ID = 13808]
3. 3 [Option ID = 13809]
4, 4 [Option ID = 13810]

=) According to Naiyaylkas we ascertain the relation of universal concomitance between x
and vy :
(A) We can determine the relation only i1f we can determine the relation of essential
1dentity between x and ¥
(B) By perceiving that in all cases the presence of x is accompanied by the presence of y

(C) We can determine the relation only if we can determine the relation of cause and
effect between x and ¥

(DY By not perceiving any instance where the presence of x 18 not accompanied by the
presence of ¥ or vice-versa

Choose the correct answer from the options given below :
(1) (A) and (C) only

(2) (D) and (C) only

(3) (B) and (D) only

(4) (A). (B) and (C) only

AR % FTEAR 70 x 3R y § AEdiis gemiha # T gEged #d 2
(A) xR y = o= e g 31En Thierhal B B GHITEd 3 W 3 79 S5 B 9
T |

(B) =l At § o B IufEAta B WA y Fi Iuieala F EEE T a1 TS B

& aman = " . L s R+ Y A ™ 3 - o E
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oM WEHTH T OH MR T AT B W oH X A Y T M T T ARHCY A O T T

x =i UfEYT % WY y i SEIRAN Ay F WEUE F WY x I AOEAG W BE W g

L)
(D)
A9 7T FH|
Hi=r fou e famedt 8 @ wd s # =99 i
(1) A (A) ()
2) = (D) IR (C)
(3 F=4 (B) it (D)
(4)  Fad (A). (B) 311 (C)

[Question ID = 3587][Question Description = Q26_GP_20NOV_52_SHAAN_Shift2]

oW 2 =

. 1 [Option ID = 13811]
2 [Option ID = 13812]
3 [Option ID = 13813]
. 4 [Option ID = 13814]

22) Matoh List I with List IT :

List I

(A) Vyapti

(B) Linga
(C) Sadhya
(D) Paksa

List IT
(I)  The property being inferred
(II) Locus of hetu and Sadhya
(III) Sign or reason

(IV) Universal concomitance

Choose the correct answer from the options given below :

oy
(2)
(3)
(4)

A)-M), (B)-(1D), (C)-(II), (D)-(IV)
(A)-aD, (B)-(IID). (C)-), (D)-AV)

(A)-(IV). (B)-(I1D). (C)-(D, (D)-(1I)

(A)-aID. (B)-(D). (O)-AV). D)-1D)

geh.I % @ g1 1 firer i

(&)

(B)

(©

(D)

i1
=i

Lo

T
1Eq

]

e fau o el 5 O E 3w = i

(1)
2
3
4

(A)-(D). (B)-(I1L), (C)-AI). (D)-AV)
(A)-(D. B)-(ILD), (C)-(D. (D)-IV)
(A4)-AV). (B)-dID). (C)-(). (D)-AD)
(A)-(ID. B)-@). (C)-AV), (D)-AD)

11
(D 7o =1 IFAEE
(ID) &g 2 ared = ©H
(III) TeFaT 3T HRA

(IV) wrEsties gemiia

[Question ID = 3588][Question Description = Q27_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13815]
| 2. 2 [Option ID = 13816]

prepp
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| 3. 3 [Option ID = 13817]
4. 4 [Option ID = 13818]

23) Given below are two statements :

Statement I : According to Classical Indian Logic the fallacies (hetvabhasa) are not

errvors of inference, but rather hindrances to inference.

Statement II: A fallacy i1s really a “seeming reason or mark” (hetvabhasa), which. if

recognized, would prevent the inferential cognition from arising,

In the light of the above statements, Choose the correct answer from the options given

below :
(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement Il are false.
(3) Statement I 1s true but Statement II is false.
(4) Statement I 1s false but Statement II 1s true.
ft @t Py feg e 2
w97 () : AR T TohuITe oh SFEN e A B 39 98t ifug =HeagE g)
e ID ; eI Tgd: 9 B Y91 HWehd & Sl IR afye w9 9t sigafe s

$i el =1 e = 2|

ITUH HIA % a7 °, A= fBw 1v el 8 9wt sw W =9 Al

(1)
(2)
(3)

4)

we () 311 (1) 31 79 8
F (I) 3R (ID) A1 staea B
w94 (I) ex B, wifh 9 (II) 319ca 8

Fe (D) 7 2, wf 599 (D ¥ 2

[Question ID = 3589][Question Description = Q28_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13819]
2. 2 [Option ID = 13820]
3, 3 [Option ID = 13821]
4. 4 [Option ID = 13822]

24) *“‘All radically egalitarian societies are societies that do not preserve individual liberties’’.

Which of the following statements is true with reference to the above statement?

(1) “*No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is logically equivalent.

(2) “*No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is not logically equivalent.

(3) ‘*Some radically egalitarian societies are societies that preserve individual liberties’’ is converse of the given statement
and it is logically equivalent.

(4) ‘‘Some radically egalitarian societies are not societies that preserve individual liberties’’ is converse of the given
statement and it is logically equivalent,

“Ierd: |t THATEE A U g § W) dafeh S o gt T8 i 217 sraifefad wyEt O 9 e
g1 FUA UG =h Geed J wer 2 7?

1)

(2)

wis off goa: WEAEnd BN UE TES 6§ St aafew wEaeal S wiia wwa ) for e A
=1 4g Ufdafda o g it qifs &9 ¥ gaded 2
g ff Toq: AuEEd AE UH W TE 8 9 Aafes e w1 w21 R e wem
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M Ho HIAAIAa SEH b oHEL ONEss e o xﬁﬂ*‘lg{”ﬂl ol

(8) T guid: UEAEiel BUS UH ®AT § S dafes waa wiiE 2| Ry e wea # 9 viogs
ar 2 SR qifeh w9 § wHE 2|

(49  FB YAG: UNAEIE] THIS U G 6 8 S dafew e o el w5 2| o e e g
it e 2 1R @i B9 | Tged 2

[Question ID = 3520][Question Description = Q29_GP_20M0V_S52 SHAAN_Shift2]
1. 1 [Option ID = 13823]
2. 2 [Option ID = 13824]
3. 3 [Option ID = 13825]
4. 4 [Option ID = 13826]

25) Two propositions are contradictories if ;

(1) One is denial or negation of the other

(2) If they can both be true but cannot both be false

(3) If they have different subject and predicate term and differ from each other in both quality and quantity

(4) If they have the same subject and predicate terms but differ from each other only in quantity but not in quality

g1 afagteEt = 2 =f2

(1) =, g W g F 2 9 T a2

(2)  3FR, <Al G 7 Gdl 3 oieh SiF1 3150 A8l ol dehdll

(8) TR 3T 32va IR fadam ug fim 2, v 7o ofk AEn o s 2

(4) IR ST 239 I fagm wum § iR 2 whae wEn | A T § weg o | st 3
[Question ID = 3591][Question Description = Q30_GP_20NOV_S2_SHAAN_Shift2]
. 1 [Option ID = 13827]
2 [Option ID = 13828

]
. 3 [Option ID = 13829]
. 4 [Option ID = 13830]

o =

26) What is the binary equivalent of the decimal number 67,6257
(1) 1000010.110 (2) 1000011.110
(3) 1000010.101  (4) 1000011.101

agHed G 67.625 i fgenard wuges @1 27

(1) 1000010 . 110 (2) 1000011. 110
(3) 1000010 . 101 (4) 1000011. 101

[Question ID = 3592][Question Description = Q31_GP_20NOV_52_SHAAN_Shift2]
1.1

[Option ID = 13831]
2. 2

[Option ID = 13832]
3.3

[Option ID = 13833)
4. 4

[Option ID = 13834]

27) Identify the correct order of the following different types of computer components ranked from fastest to slowest in
terms of access time.

(A) RAM

(B) Optical Drive

(C) CPU Cache

(D) SSD

Choose the correct answer from the options given below :

(1) (B}, (D), (A), (€) (2) (C), (D), (A), (B)

(3) (A), (B}, (), (D) (4) (C), (A), (D), (B)

UFHE 2EH Wl IF H T@d gE Fe O o wa i, Wk % o o 5y e wat § o wd w0 R ggee
Y

A W@

g

(B) HAMEHA glEd
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() g FwW
(D) uwgugdl
F2 fou 7o feedt ¥ © wel AU S 999 Hife

(1) B). D). A).(C)
2 (©O. D). &.®

3) @A), B). (). D)
@ (O . D). 3

[Question ID = 3593][Question Description = Q32_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13835]
2. 2 [Option ID = 13836]
3. 3 [Option ID = 13837
4. 4 [Option ID = 13838]

28) Given below are two statements :

Statement | : The abbreviation ‘MOOC’ stands for ‘Massive Open Online Courses’.

Statement Il : The abbreviation ‘SWAYAM’ stands for ‘Study Webs of Active-Learning for Young Academic Minds’,
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement |l are true, (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement |l is false. (4) Statement | is false but Statement Il is true.

e gt o feg T g
w9 (1) g, 317 315, T uaee 2 - B o s wee
= (II) ; W, 3o T A LUA. B HadAS § - S a5 AT Ufdea-afin v T Ui

S

IUTh YA+ IR |, o 3y o fomeal o @ wE s o == fhifa

1)  =F (1) 3 JD 2 wew E

@ W () SR AD T S E

(3)  wF () Uea &, e 99 (1) smed 2
4 T () sEA 2, A w1 T3 2

[Question ID = 3594][Question Description = Q33_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13839]
2. 2 [Option ID = 13840]
3. 3 [Option ID = 13841]
4, 4 [Option ID = 13842]

29) Which of the following statements are related to the role of ICT in citizen services?
(A) Access to public documents

(B} On-line payments

(C) Better medical education across the country

Choose the correct answer from the options given below :

(1) (A), (B) and {C) (2) (A) and {C) only

(3) (B) and (C) only (4) (A) and (B) only

fr=fafiaa 8 8 F9-=19 ¥ w@ T @ 4 ong.H@.A. $i yfis ° awtg 37
(&) s TES 7% 95
(B) AT YA

(©) @i 3w ¥ sE fafreha fean
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e fau T fwedl @ O @t 3o 9ue S

1 @), ® IO
(2)  #HaA (A) AR (C)
(3) & (B) 3R (C)
(4 %3« (A) 3R (B)

[Question ID = 3595][Question Description = Q34_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13843]
2. 2 [Option ID = 13844]
3. 3 [Option ID = 13845]
4. 4 [Option ID = 13846]

30) Match List | with List Il ;

List | List [l

(Computer Terms) (Description)

(A) HTML (1) Semantic Web

(B)Y Web 2.0 (ll) Use of Internet to make phone calls

(C) Web 3.0 (lll) Language used to create web pages

(D) VOIP  (IV) Collaborative web

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(IV), (C)-(1), (D)-(I)  (2) (A)~(IlT), (B)-(1), (C)-(1V), (D)~(Il)
(3) (A)-(I1), (B)-(V), (C)-(1), (D)-(1I)  (4) (A)-(IV), (B)-(1l1}, (C}-(), (D)-(ID)

g1 5w gEt-11 = firem i

-1 gfi-I1

HurERE UE oo
(4) wadu. @ wifew aw
(B) =% 2.0 (D T Fed FE & e etz = gam
(©) =% 3.0 (IID) & ¥ i 5. % fore sEbr =6 5 dew
(D) .2t o . (IV) wErfes 39
e fau o fpeat @ O ud I 9Ee AR

1) A-aIh. (B)-aV), (C)-1D), D)-ID
2y  A-AID. B)-@). (O)-AV), (D)-AhH
@ A-dD. B)-AV). (O)-D, (O)-dID
@  (A-AV). B-AID. (C)-1), (D)-(ID

[Question ID = 3596][Question Description = Q35_GP_20N0V_S52 SHAAN_Shift2]
1. 1 [Option ID = 13847]
2. 2 [Option ID = 13848]
3. 3 [Option ID = 13849]
4. 4 [Option ID = 13850]

31) Given below are two statements :

Statement | ;: Noise Pollution has an adverse impact on hearing ability as well as psychological well being of a person.
Statement Il : Human perception of noise levels is linear.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement |l are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement |l is false, (4) Statement | is false but Statement Il is true.

= 2 F99 R mm -

%07 (D) : ot TgE W ufage wWE wfe i sEm-mte & wmy-wy TEtee-Ewes ) o

TS 21
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wad (1) : e AU, SI-a & g9 1 e 2

SUTih YA st |, {9 e v feredl § o @t 59 =wq fife

V) = (@) 3k A0 2w §

@) e (@) TR (D) ST 3Taed &

(3) A () TeA 7, wifed w99 (1) AdA 2

@ = (D) 2T 2, 9wy (D) g 2

[Question ID = 3597][Question Description = Q36_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13851]
2. 2 [Option ID = 13852]
3. 3 [Option ID = 13853]
4. 4 [Option ID = 13854]

32) Which country is in the process of setting up the largest integrated solar-wind energy park of 30 GW capacity?
(1) China (2) India
(3) Australia (4) Saudi Arabia

frfariga & & #5031 29 30 T are 6 awr i Gva % g9y 53 gR-ag-Sei-sum i e i
ufsFar § wem 27

(1) =™ (2) 9rd
(3)  @ifem (4) wdi-arm

[Question ID = 3598][Question Description = Q37_GP_20M0V_52 SHAAN_Shift2]
1. 1 [Option ID = 13855]
2. 2 [Option ID = 13856]
3. 3 [Option ID = 13857]
4. 4 [Option ID = 13858]

33) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R,
Assertion (A) : There has to be an integrated approach to achieve the targets of Sustainable Development Goals (5DGs).
Reason (R) : Many of the 5DGs are interconnected.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both {(A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3) (A) is correct but (R} is not correct,

(4) (A) is not correct but (R) is correct,

=t 3w fw e 2 : oF STfieR (Assertion A) F ¥ # fafd ® 9 780 0% FR9 (Reason R) %
E‘Ilﬁ:

AN (A):  wuwoiw frer s (0w dsh.) H iy 2 o s st 2

T (R) : %3 0.3, swaEg 2
SURITh YAl & AR §, = e oy foereai o @ awd sygeh 3T oA = <hifa

1) (A) SR R) AT @8 2 & (R). (A) i 98t = 2
2) (&) IR R) AT TE £, v R). (&) F i = TE 2
3) (AT, A R) T T

@) Q) Ed AR, 9 R) w2
[Question ID = 3599][Question Description = Q38_GP_20N0OV_52_SHAAN_Shift2]
1. 1

[Option ID = 13859]
2. 2
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[Option 1D = 13860]
LN

[Option ID = 13861]
4, 4

[Option ID = 13862]

34) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : Mankind’s interaction with Earth has led to a highly complex and diverse ecosystem to an increasingly
degraded environment,

Reason (R) : Many of the changes taking place in Earth’s environment are irreversible.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of {(A).

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

et 31 = fog e 2 ;o iR (Assertion A) F ®9 § forftd ® A g0 3@% FAW (Reason R) %

ATFA (A):  HHEW IR TFR F 3T 3 Il o fafrangt miteias-an w3t it s
WS A § giatad a9 5 2)
#F01 (R) Tl ARl § Bl @ 3w Giee SMEaHi B

ST FU F o °, 9 6u T fawea 7 U uE ST W 99 i

1) (A ¥R R) I A 2 3R R). Q) F 7 e
@ () @) 3 T €, S R). Q) F T e T 2
(3 (AT 2, e (R) v ameT 2
@ (A wEe TE R, ae (R) w2
[Question ID = 3600][Question Description = Q39_GP_20NOV_S2_SHAAN_Shift2]

1. 1

[Option ID = 13863]
2. 2

[Option ID = 13864]
B

[Option ID = 13865]
4, 4

[Option ID = 13866]

35) What percentage of India’s land is vulnerable to earthquakes?
(1) - 57% (2) ~ 42%
(3) - 37% (4) - 28%

i st et wiowm it o e = wopeed £

(1) ~ 57% (2) ~42%

(3) ~ 37% 4 ~28%

[Question ID = 3601][Question Description = Q40_GP_20NOV_52_SHAAN_Shift2]
1 [Option ID = 13867]
. 2 [Option ID = 13868]
. 3 [Option ID = 13869]
4 [Option 1D = 13870]

oWk B
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36) Which of the following is most effectively promoted by Globalisation among the societies?
(1) Monocultural values (2) Multicultural values
(3) Regionalisation (4) Self centredness

frafafaa 4 #9909 2R o9 9 98 Y 9 S 5 Aty e s @ 27

(1) el GiEhios god (2) &g WiEpideh e
(3) & (4) sTH-FEal

[Question ID = 3602][Question Description = Q41_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13871]
2. 2 [Option ID = 13872]
3. 3 [Option ID = 13873]
4. 4 [Option ID = 13874]

37) CBCS stands for
(1) Choice Based Central Schemes (2) Choice Based Credit System
(3) Central Board of Credit Schemes (4) Credit Board of Central Sponsors

h & om, =1 7aee & -

(1) ~=IrA s w7 whim (2) =aTEd IS e A
(8) T WIS ATE Hise THA (4) HfEe TS AF Fod WiHH

[Question ID = 3603][Question Description = Q42_GP_20N0V_52_SHAAN_Shift2]
1. 1 [Option ID = 13875]

2. 2 [Option ID = 13876]

3. 3 [Option ID = 13877)

4, 4 [Option ID = 13878]

38) COVID-19 acronym stands for

(1) Corona Virus Disease 2019

(2) Corona Virus Disease strain 19

(3) Corona Yirus Disaster 2019

(4) Corona Virus Disease 2020
Fifae—19 = gao & -

(1) R arsE St o1 F 2019
(2) R 9TRE S w19
(8) BRI ATE@ fEomeX 311 2019

(4) =T =L fedie 21w 2020
[Question ID = 3604][Question Description = Q43_GP_20N0OV_52_SHAAN_Shift2]
1. 1

[Option ID = 13879]
2.2

[Option ID = 13880]
3 3

[Option ID = 13881]
4. 4

[Option ID = 13882)

39) NITI Aayog is

(1) National Institution for Transforming India (2} National Institute of Technology Integration
(3) Mational Institute of Technological Innovation (4) National Institute of Transformation and Innovation

Hifd (NITI) s1=h %1 gaaie 2 -

(1)  =uHd S B g s

prepp
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@) e Rege A S @hiad
(3)  TeHa REIE AF IR AT
@) e g A GEEhE & T

[Question ID = 3605][Question Description = Q44_GP_20NOVY_S2_SHAAN_Shift2]
1. 1 [Option ID = 13883]
2. 2 [Option ID = 13884]
3. 3 [Option ID = 13885]
4. 4 [Option ID = 13886]

40) Match List | with List 1l

List 1 Listll

(Days Celebrated) (When)

(A) Earth Day (1) 24 January

(B UNO Day (ll) 5th June

(C) Environment Day (lll) 24th October

(D) International Day of Education (IV) 22nd April

Choose the correct answer from the options given below ;

(1) (A)-(1), (B)-(IN), (C)-(I), (D)-(IV)  (2) (A)~(IV), (B)-(lI}, (C}-(1), (D)-(I1)
(3) (A)-(I), (B)-(IV), (C)-(1), (D)-(N11)  (4) (A)-(IV), (B)-(1I}, (C)-(I1}, (D)-(D)

-1 % "y g1 =1 T fife
i T=fi-11
feera fereft
(A vet-feam @ 24 50
(B) uxw g vd fdam aAh s
(C) wrRRvT-feTm (ATD) 24 HRR
(D) eraidim frer faam (IV) 22 21
fa fam T e § O OE ST 1 9He ST

1) A)-D). (B)-AID. (C)-aI). (D)-(IV)
@2 A-AV), (B)-(IID), (C)-(), (D)D)
(3)  (Q-aD, B)-AV), (O)-O), (D)-dID)
@  A-AV). B-dID). (C)-AD. D)-D

[Question ID = 3606][Question Description = Q45_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13887]
2. 2 [Option ID = 13888]
3. 3 [Option ID = 13889
4. 4 [Option ID = 13890]

Topic:- 31Linguistics_A

1) Unlike bees and birds, the human beings can moniter what they transmit in their speech. This property is referred as
(1) Displacement (2) Discreteness

(3) Feedback (4) Specialization

wynfaeal st aiert @ s agsy svaft a3 Zr o e Yor o1 uftefieror s werd 21 g8 Torad 6 wEd

(1) foemm @ fafwn
(3) HIlaw @ AR

[Question ID = 5742][Question Description = Q01_Linguistics_SHAAN_20NOV_51_5hift2]
1.1

[Option ID = 22416]
3.7
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[Option ID = 22417]
3. 3

[Option ID = 22418]
4, 4

[Option ID = 22419]

2) sounds are made with an oral tract constriction which is less than that required to produce friction.
(1) Consonantal (2) Appreximant
(3) Sanorant (4) Strident

a7 g Uy Hehi=H 8 I foru Sird & St enor Seoa o 3 o1uiiaa wehted 3 <50 g 3

(1) SRR (2 i
(3) wIN @ e

[Question ID = 5743][Question Description = Q02_Linguistics_SHAAN_20NOV_S51_Shift2]
1.1

[Option 1D = 22420]
Pl

[Option ID = 22421]
3.3

[Option ID = 22422]
4. 4

[Option ID = 22423]

3) Which of the following sets of distinctive features cannot distinguish between the four major classes of speech sounds,
i.e., consonants, vowels, liquids and glides?

(1) + Vocalic and z Consonantal {2) + Yocalic and % Syllabic

(3) + Syllabic and £ Approximant (4) + Continuant and + Obstruent

feafafea § @ wn w fafoe sl agg awmr-waw 6 =w sge Sfe, e, w1, @ s o fad o
AT TH w gFHAI?

(1)  +Ihg 3R +SSHICH (2) +IEHMA IR + 370
(3)  +ameaf s £ stfipmd (4 ¥arEd SR +AaUH

[Question ID = 5744][Question Description = Q03_Linguistics_SHAAN_20NOV_51_5hift2]
1.1

[Option ID = 22424]
2. 2

[Option ID = 22425]
S

[Option ID = 22426]
4. 4

[Option ID = 22427

4)  ‘Pitch’ of a sound is

(1) auditory property of the sound which enables a listener to place it on a scale of high to
low
(2) auditory property of the sound which enables a listener to infer a sound on a scale of loudness
(3) measured in terms of ‘frequency’, number of cycles per second as an exact correlate of pitch in ‘mels’
(4) a feature that can be studied on the waveform
forell wom 1 TRETa B

(1) T I yavedes o0 S e o o 38 FavTEReRdl e W 3R H FE i o v 1 wnd s )
(2) T Haveds o Sh e sl R TR T o eeh S % T W I9erEd o 1 wmd S )

(3) 3 USAl & wdre weweHl % w9 4 ufd Yohe wwl ) gen swafa srafa’ & wred o uffia e s
&,
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(4)

[Question ID = 5745][Question Description = Q04_Linguistics_SHAAN_20NOV_S51_Shift2]

1. 1

o

W 101 oot e i w9 W T s w2

[Option ID = 22428)]

2.2

[Option ID = 22429]

ik

[Option ID = 22430]

4. 4

[Option ID = 22431]

prepp
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5) Spectrum of a sound is closer to the auditory reality because it gives a visual representation of the constituent
frequencies in terms of their

(1)
(2)
(3)
(4)

ol T 1 TIEE ATV SvEAfdel 1 gHiaed] i B Fifh 78 I

waveforms

frequencies and intensities on X axis and Y axis

frequency, intensity and time

frequencies and time on X and Y axis

st =1 gfvass ylaeTo yem wan 3)

)
2
(3)
(4)

[Question ID = 5746][Question Description = Q05_Linguistics_SHAAN_20NOV_51_5hift2]

1.1

T F

X 318 3R Y 2181 W TR vE e
g, dadl 3T Fe

X 3R Y 318 W Agfaail e

[Option ID = 22432]

2. 2

[Option ID = 22433)

Feih

[Option ID = 22434]

4. 4

[Option ID = 22435]

6)

[Question ID = 5747][Question Description = Q06_Linguistics_SHAAN_20NOV_51_5hift2]

1.1

Once an inflectional affix is added to a form of word;

(1)

(2)

(3)
(4)

The word can further be derived
It becomes easy to recognize the root word
No further derivation of that word is possible

It finalizes the concatenation process of the word

el wree & =9 W S faaie yom Sie 9 2, 99

(L
(2)
(3
(4)

152 ol AR Sgeu ToRa S wema 2
& WSE o TEEEA SR B ST 2
158 %1 SR SeUF 1 a9d 4 2
T3 %3 o HAH TR i G0 F4@1 3

[Option ID = 22436]

2. 2

[Option ID = 22437

Feih

& g d wew
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[Option 1D = 22438]
4. 4

[Option ID = 22439]

7) In an explicator compound verb construction the V4 (from the sequence of ¥4 + V3} is known as

(1) Grammaticalized verb (2) Vector verb

(3) Polar verb (4) Light verb
forel forerren Tiger T <1 GEe AV (Vi + Voo 150 1 ) o1 901 3had o7
() o B @ e fwn
(3) gdE R (4) oo TsEn

[Question ID = 5748][Question Description = Q07_Linguistics_SHAAN_20NOV_51_Shift2]
1. 1

[Option ID = 22440]
2, 2

[Option ID = 22441]
3.3

[Option 1D = 22442)]
4, 4

[Option ID = 22443]

8) The word ‘deadline’ is an example of a compound noun in English which is classified as
(1) Exocentric compound (2) Endocentric compound

(3) Copulative compound (4) Right headed endocentric

A Seargd’ diftes e % Sere @ R fmfafea 1§ @ fora wa b arffea v s wear 3,

(1)  glifs garg (2) 34 & gurg
(3) FZEUE (4) BT ESE A FeF
[Question ID = 5749][Question Description = QO8_Linguistics_SHAAM_20NQOV_S51_Shift2]
1. 1
[Option 1D = 22444)]
2. 2
[Option ID = 22445]
3.3

[Option ID = 22446]
4, 4

[Option ID = 22447]

9) The forms such as UNESCO, NATO, AlIMS and ISRO are examples of
(1) Blending (2) Acronyms
(3) Abbreviation (4) Clippings

AT, A1E, T AR 3R S 98 fAa 4 4 feras gamm 27
(1)  faem (2) ufcaefigse
(3)  Ha @ Fa
[Question ID = 5750][Question Description = Q09_Linguistics_SHAAN_20NOV_S51_Shift2]

1. 1

[Option 1D = 22448)]
Pl

[Option ID = 22449]
3.3

[Option ID = 22450]
4. 4

[Option ID = 22451]

10) A morph which does not get realized as a morpheme is known as
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(1) Portmanteau morph (2) Zero morph

(3) Empty morph (4)  Allomorph
2 T S F W Y W A B @ 3 form i S San 37
(1) @ %y (2) IAEY
(8 THEY 4) I9EY

[Question ID = 5751][Question Description = Q10_Linguistics_SHAAN_20NOV_S1_Shift2]
1. 1

[Option ID = 22452]
2. 2

[Option ID = 22453]
B

[Option ID = 22454]
4, 4

[Option ID = 22455]

11) The term ‘concatenation’ in morphology refers to

(A) The Reduplication of morphemes in the words

(B) The circumfixation of morphemes in the word

(C) Numbers of inflections and derivations in the word
(D) Linking morphemes together in the word

(E) Separating the morphemes in the word

Choose the correct answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (A) and (C) only

(4) (C), (D) and (E) only

wufasad wareE’ srgaon forg aeiia s e?

(A)  weal d wim] % S

(B)  weg § wiuHi = ufiEfeity

(C) wised faufeal iR =geataai i wem
(D) 5% H Bl &) AT T ST

(B)  viee O Sl sl AR

= feu e fasreal 9 @ W& 3w w5 =3 iR
(1) e (A) AN (B)
(2)  %EE (B) 3R (C)
(3) e (A) (O
(4) &= (C), (D) 3 (E)
[Question ID = 5752][Question Description = Q11_Linguistics_SHAAN_20NOV_S$1_Shift2]

1.1

[Option ID = 22456]
2. 2

[Option 1D = 22457]
3.3

[Option ID = 22458]
4, 4

[Option ID = 22459]
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12) The pro-drop parameter determines whether

{1) Subject of a clause can be suppressed

(2) Direct object of a clause can be suppressed

(3) Indirect object of a clause can be suppressed

(4) The dependent clause can be suppressed
ITFEEAN e 78 Fuiia s 3

(1) U7 Al R 0] T A HHAT 2
(2) I F IHFH IV TGS HHA 8
(3)  IUATH F SITeh FY bl I TEI ST Wl
(4) AP IuETH ! I T S U 8
[Question ID = 5753][Question Description = Q12_Linguistics_SHAAN_20NQV_S51_Shift2]

1. 1

[Option ID = 22460]
Z. 2

[Option ID = 22461]
3.3

[Option ID = 22462]
4, 4

[Option ID = 22463]

13) From the perspective of grammatical analysis as part of a two-way classification of syntactic construction using
distributional criteria, which of the following is endocentric

(1) the boy ate a mango

(2) the fierce yellow giant kicked the dwarf
(3) on the cake

(4) the big house

forqronens el % YA % g ST A & funfl effeor o um % w9 4 syelres ¢fei @
Teafeiiaa o € oF -a Afihiss 2

(1) EsdEmTTH @) = T e sl e 2 wdtw
(3) FEeFHF 4 =T 3Ea
[Question ID = 5754][Question Description = Q13_Linguistics_SHAAN_20NOV_S1_Shift2]
1. 1

[Option ID = 22464]
3.2

[Option ID = 22465]
3. 3

[Option ID = 22466]
4, 4

[Option ID = 22467]

14) Which of the following is a functional phrase?
(1) IP (2) NP
(3) VP (4) PP

faferfiera o 9 % —w1 werraToer Sreara 27
(1) 2) R (wq)
(8) Twarug (did) @ G

[Question ID = 5755][Question Description = Q14_Linguistics_SHAAN_20NOV_51_Shift2]
Te 5

[Option ID = 22468]
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| 2. 2

[Option ID = 22469]
3.3

[Option ID = 22470]
4, 4

[Option ID = 22471]

15) In generative grammar, ‘The assumption that the car was not working’ is a/an
(1) Sentence (2) Verb phase

(3) Complex noun phrase (4) Prepositional phrase

YT S0l ¥ g AAfieRem T3 2 wnane) e i’ 8
(1) aEa @) TR
(3) wfmuEmw (@) G 9e

[Question ID = 5756][Question Description = Q15_Linguistics_SHAAN_20NOV_S$1_Shift2]
1. 1

[Option ID = 22472]
2.3

[Option ID = 22473]
LN

[Option ID = 22474]
4, 4

[Option ID = 22475]

16) Grammatically plural nouns that have no corresponding singular form, such as scissors, glasses are known as
(1) Polar antonyms (2) Plesionymy

(3) Pluralia tantum (4) Polarity

=l 1 gfe 8 T sgaen wet o wedl wwhaeH T8 B @, S8 A, oTe gonfe, 3% fafofae 14
FHEA &7

(1) gdawam () Ef
(3 wifern den @ gdr

[Question ID = 5757][Question Description = Q16_Linguistics_SHAAN_20NOV_51_Shift2]
1.1

[Option ID = 22476]
7.2

[Option ID = 22477]
3.3

[Option ID = 22478]
4, 4

[Option ID = 22479]

prepp
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17) An expression that refers to something that people hesitate to mention lest it cause offence, but which lessens the

offensiveness by referring indirectly in some way, is known as,
(N Equipollent antonyms {(2) Equipollent opposition

(3) Euphemism (4) Dysphemism

s UH AW S 3k WY Bid1 & e 3@ | ag | a8 it foR 398 g0 We S 99 8 3
I TR B TEH ST ey Teh! SURSHFRA h1 FH HE1 2, FaA 2 ;

(1) =gl faulmefs (2 wwglm vfeim

(8 Twitw 4) gaife
[Question ID = 5758][Question Description = Q17_Linguistics_SHAAM_20NQOV_S51_Shift2]
1. 1

[Option 1D = 22480]
2. 2
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[Option ID = 22481]
3. 3

[Option ID = 22482]
4, 4

[Option ID = 22483]

18) A “Proposing” is a type of sentence in which lexically governed or subcategorized phrasal constituents appear to the
(1 Right of its canonical position {2) Above its canonical position

(3) Left of its canonical position (4) Below its canonical position

“gaifem’ ue A TR 2 foram v Rt sreran 30 -2iofierd wee i T v 2
(1) 3ok fafea e o Qi (2) ok fafed TIH & 3W
(3) o fafea s e @) 3a fafgd wm w =

[Question ID = 5759][Question Description = Q18_Linguistics_SHAAN_20NOV_S$1_Shift2]
1, 1

[Option ID = 22484]
.2

[Option ID = 22485]
e

[Option ID = 22486]
4, 4

[Option ID = 22487]

19) law covers three interrelated changes in the series of stops from
Proto-Indo-European to Proto-Germanic : Voiceless stops > Voiceless fricatives,Voiced stops » Voiceless stops, voiced

aspirated stops > Plain voiced stops.

(1) Meogrammarian (2) Grimm’s

(3) Verner’s (4 Grassmann’s

I W M-S 2RI -8 Gie) SEifeE T 2991 o1 J@dl | o SHasiua Thad e 2id 2
s S EY] > Ty o, Ty onl > v el gevy werr Wyl > un v el

1) 79 TR @ firg

@ @ i

[Question ID = 5760][Question Description = Q19_Linguistics_SHAAN_2O0NOV_51_Shift2]
1. 1

[Option ID = 22488)]
2. 2

[Option ID = 22489]
3.3

[Option ID = 22490]
4. 4

[Option ID = 22491]

20) The assumption of is extremely valuable to the application of the comparative method.
(1) social motivation (2) suddenness
(3) regularity (4) diffusion

o) ko 1 eI JoTel o SIar % fore steda goaam 2:

(1) QSR i (2) ArREER
(3)  Trafiea @) T

[Question ID = 5761][Question Description = Q20_Linguistics_SHAAM_20NQOV_S51_Shift2]
1. 1

[Option 1D = 22492
2. 2
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[Option ID = 22493]
LN

[Option ID = 22494]
4, 4

[Option ID = 22495]

21) The English word ‘meat’ that meant ‘food’ in general earlier, refers to ‘food of flesh’ now, and it is an example of a
semantic change called

(1) widening (2) narrowing
(3) metaphor (4) metonymy
HUSH 1 weg i Torrer a1l Ugel UM B SR ST A1, HG e IfE wAw 1w o1 2, 75 A
gftad =1 T 3EE g e EREE
(1) =19 faram (2) a4 "eRi=A
(3 U (4) 3UA

[Question ID = 5762][Question Description = Q21_Linguistics_SHAAN_20NOV_S1_Shift2]
1. 1

[Option ID = 22496]
2. 2

[Option ID = 22497]
3, 3

[Option ID = 22498]
4, 4

[Option ID = 22499]

22) In some English dialects, the change of the word chimney to chimley is an example of

(1) metathesis (2) coalescence

(3) assimilation (4) dissimilation
37isfl 1 % wifel # Chimney 32 %1 Chimley § aftatd F1 IR 2
(1) faoda (2) wHia
(8)  THivA @) fayderm

[Question ID = 5763][Question Description = Q22_Linguistics_SHAAN_2O0NOV_51_Shift2]
1. 1

[Option 1D = 22500]
2. 2

[Option ID = 22501]
3.3

[Option 1D = 22502]
4. 4

[Option ID = 22503]
23) In sociolinguistics a group of instutionalized social situations typically constrained by a common set of behavioural rules
is called
(1) Domain (2) Compound
(3) Identity (4) Contact
TR H sgErTd i & ame ey g faitne w9 8 srag wrw s el w1 wgg
I FFAT 37
() &8 () (2) TR
(3) AR @) 9

[Question ID = 5764][Question Description = Q23_Linguistics_SHAAM_20NQV_S51_Shift2]
1.

[Option ID = 22504)]
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[Option ID = 22505]
3.3

[Option ID = 22506]
4. 4

[Option ID = 22507]

24) Accomodation theory in sociolinguistics aims at

(1) explaining why people modify their style of speaking to become more like or less like their
addressee
(2) explaining why people accomodate other people of higher social status
(3) explaining the syntax of code-mixed grammar
(4) explaining the features of middle and lower middle class language
warsraTeT H ane fagid o1 3w 7
(1) =8 g o3dr 2 T om gt safe @ afires =1 o9 9 9 % fora s1em e o) e = =1 weerd
E

(2) I8 T8 a2 Ton o swaa wmfores et st s ot =6 ol wafssa @ 2
(3) -l e & arem A= st we w5 3
(4)  Wom AR g nem arfig S S a6 e e R R

[Question ID = 5765][Question Description = Q24_Linguistics_SHAAN_20NOV_51_5hift2]
1.1

[Option ID = 22508]
2. 2

[Option ID = 22509]
e

[Option ID = 22510]
4, 4

[Option ID = 22511]

25) Which of the following is not true for ELAN?
(1) It is a part of EXMARaLDA

(2) ELAN allows researchers to time align transcrist and recordings

(3) It allows a researcher to make numerous dependent and independent annotations on any word,
utterance

(4) It allows different speakers to be transcribed on different tiers, and several coding tiers can be added

frerforfion 8 w0 3T T (ELAN) ¥ fora v 7 87

(1) TRITHTHT AR TA € U (EXMAaLDA)F & 2
(2)  (ELAN) sharial =i fercrea sin ferid =6 smaeg =6 201 @
(3) o el fordi vz, 3t onfe W s anisa 3T Wdd surew a1 2

@ 3o fafim o fafim ot v foas ot aed € 31 S i TSI o e 2

[Question ID = 5766][Question Description = Q25_Linguistics_ SHAAN_20NQV_S51_Shift2]
1. 1

[Option ID = 22512]
2. 2

[Option ID = 22513]
B

[Option ID = 22514]
4, 4

[Option ID = 22515]

26) Chambers and Trudgill (1998) introduced the term NORM to describe the typical informant of traditional dialect
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research, which meant

(1 Normal speaker, different from speakers whose speech is affected
(2) Normal ordinary Rustic Men

(3) Mon-Native Ordinary Resident or Motivator

(4) Non-mobile older Rural Males

e 3R e (1998) 3 WOArTd diehl e o fafite F=rs o1 auie % & Tl NORM 153 1 I[&31 %
Torert Afargmg o

(1) A =6, 3 gl 3 fig e g nanfag @
(2)  Hrdw SiEsh s i (wmm ara S satE)
(3) "\ AR Sl WL sr A

(4) T EEEA S W Aol

[Question ID = 5767][Question Description = Q26_Linguistics_SHAAM_20NOV_S51_Shift2]
1. 1

[Option ID = 22516]
2. 2

[Option ID = 22517]
3.3

[Option ID = 22518]
4, 4

[Option ID = 22519]
27) A grammatical pattern in which the subject of an intransitive clause is treated in the same way as the direct object of
a transitive clause, and differently from transitive subject is known as
(1) Transitivity (2) Accusitivity

(3) Causativity (4) Ergativity

T sarritren e 4 forell srerrler 3uaer o sl o1 S el waen SuaTas o gea %4 o TuH IR BFdE
Fai 4 fra w1 e e 8, I FEA 8

(1)  THHF (2) FHFRE
(3)  SonefeRan @) Faa

[Question ID = 5768][Question Description = Q27_Linguistics_SHAAN_20NOV_51_5hift2]
1.1

[Option ID = 22520]
3.7

[Option ID = 22521]
3.3

[Option ID = 22522]
4, 4

[Option ID = 22523]

28) A non-finite verb form which mainly masks the adverbial subordination in most South Asian languages is known as
(1) Past participle (2) Present participle

(3) Conjunctive participle (4) Future participle
ST SR forn & STuera 2iam TR sTieti § e TRanfesioir sTe g 2, 38 e 3
(1)  VEHIAF Fgd T (2) TAHHFIAE Fad [T
(3) AT Fed fasmu @) wfrsrewfces wda fagmy

[Question ID = 5769][Question Description = Q28_Linguistics_SHAAN_20NOV_51_5hift2]
1.1
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[Option ID = 22524]
.00

[Option ID = 22525]
3.3

[Option ID = 22526]
4. 4

[Option ID = 22527]

29) In most Dardic languages including Kashmiri the voiced aspirates

(1) have preserved aspiration (2) have lost aspiration

(3) have reduced aspiration (4) have extra aspiration
ol G Afbera wrnet 4 T Wl °
(1)  oheiEs wEmmom S 3 (2) 9 WD Bl 2
(3)  IIFA AR B 3 (@) TR wEIvn gt 3
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30) In Hindi, Urdu a compound verb is formed by putting
(1) A polar and a vector verb together (2) A vector and a polar together

(3) A vector and a vector together (4) A polar and a polar together

Tt -4 # g T = < 2
Q) g Ak R e we (2) few AR gefia =l wia
(3)  wfgsr A Hids i My wa @) a3 g 9 T
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31) Just as spoken languages use phonemic features to produce meaningful words, sign languages use manual features as
phonemic features, They are
(1) The handshape used to make the sign
(2) The location of the sign in space and orientation of the palms of the hands
(3) The type of movement made by the hands
(4) All of the above

S sifetarat shi 1T Wi Yea] o Iwrol o fora xafifie stfverson = suam #id &, 3 o 6 dohd [
4 faeai & vam @ sfvaai F T i 219 g -

(1)  ©ha 9914 o foTu g19 o AR 194
(2) e T w1 safeaa ofn saferml i 3amaa
(3) Bl g ToRT Y H=Ie ohT TR
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32) If in a study, the points of difference between two languages are identified and then these are emphasised as potential
areas of difficulty in learning those languages, it is called

(1) Discourse Analysis (2} Error Analysis
(3) Contrastive Analysis (4) Language Analysis
afs foret sroma 4 &) wrwiedi 1 ot & fageii A1 sifufFwifa ot 33 aisdl =61 del 9 R T #EE &
Hqfad &F o TUH AR I G ST g, a3y FEd 2
(1) it favemo (2 Ffe favamm
(8) AT faversor @ o favemor
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33) Most scholars hold the view that :

(1 first and second languages are learnt in the same way

(2) first and second language are learnt in entirely different way

(3) there are some differences between first and second language learning
(4) first and second language are learnt simultaneously

stfererer fagri o gfgeron 2 f

(1) 7o SR Tge e U E e § e smefi €
(2 9 AR Tgem amnd wden B9 yaR @ Hid S £
(3 9 AR T g HEE T F9 AT B

(@) wem A ard e i wra b sdi 2)
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34) If language is considered as only what is observable and measurable, it is the view of
(1) Mentalism (2) Behaviourism
(3) Nativism (4) Cognitivism



www.prepp.in . repp

Your Personal Exams Guide

TEAL TR OTTAR TR D SATRITIYT TR OWEE Y TEF CUCNLTW OY'T TR AT “'i'l'\i-.,- RLLEE St ) N 'Elf.-'l"l'l LAl SR
(1) HAYETE (2) SIaRNETE
(8) ImeaT (4) WA

[Question ID = 5775][Question Description = Q34_Linguistics_SHAAN_20NOV_51_Shift2]
g st

[Option ID = 22548]
7.2

[Option ID = 22549]
3.3

[Option ID = 22550]
4, 4

[Option ID = 22551]

35) In its original intention, the test requires the construction of an artificial cognitive agent with a language
behaviour so natural that it cannot be distinguished from that of a human.

(1) Zipf (2) Diagnostic Rhyme

(3) Turing (4) AB

%0 1 e ILT AT AR o WY W HIHCHS ATFdl <l UEli wriiaers W31 # 2
for 38 e vy SerER A o 741 R S

1y Fus () TFEFTEHs: gFadl
3 =i @
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36) In order to avoid unnecessary “word material” headlines are known to have a tendency for

(1)  Zeugma (2) Semantic anomaly
(3)  Syllepsis (4) Telegraphic style
ST “vee gl | R o fon deesa Sl e g B 2
(1) = 2 A4 vad T
(3) I\ (4) s Yl
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37) Read the following statement carefully and choose the most appropriate answer that refers to the phatic function :

(A) A person goes to a Municipality Office for getting permission to construct a cow-shed, meets the officer in-charge
and says, “Good Morning Sir!”

(B) A person goes to a Municipality Office and work the security guard as to whom he should meet for getting
permission to construct a cow-shed

(C) A person goes to a Municipality Office, gets permission to construct a cow-shed and says to the officer, “Thank you
very much Sirl”

(D) A person goes to a Municipality Office for getting permission to construct a cow-shed, and asks an employee of that
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office, “who is the officer | should meet for constructing a cow-shed”?

Choose the most appropriate answer from the options given below :

(1) (A) only

(2) (A), (B) only

(3) (A), (B), (C) only

(4) (A}, (B), (C), (D) only

fferfiaa el F1 camgEe 18 IR Fafiiss Ut IR A 1 S guSEaiaTes w0 o A T TTE g

q7

() U A Menen- i i sgafi R % fon qarmie FEiera s g R g aied & fiee

el 3, T2 i !’

B) G afh FRarfcre wriera SR gen vel 8 g @ o dteren-fafn i sgafa @R % fao

e g

(©) v safth TR FEieE S mven- i f sat S g sttt § s 2, 559 95

a=rare wl’

(D) v = e -fi 6 argufa o9 % e T smEiea sre a8l & s wiE 9 g g,

Tireren - Fmior fomrior = fere g8t o srftvrrd @ T =nfea?”

e for e e o @ e 3ugen IR w9 il
1)  FEE (A

2)  *IF (A) A (B)

(3) e (A). (B) IR (O)
4  HFd (A). B). (C) HAR (D)
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38)

(4)
B)
©

D)

Choose the most appropriate answer from the options given below :

(1)
(2
(3
(4

V, -V, -V, & feu she-ae e sraa qz-ge-1e w9 fruen semm € -

The forms such as cut-cut-cut or put-put-put for V; - V; - V; examplify

Meaning but no form
No form. no meaning
Form and meaning both

Form but no meaning

(D) Only
(A) and (B) Only
(B). (C) Only

(A) Only
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&) I ¥ H T
(B) AWYHI, A 3
(C) &9 3 334, e[l &1

D)  HYFIG A T

e few e faerei 0 & Tad SR I R=H Ffe;
(1) %4 (D)

(2) Had (A) 3R (B)

3 & B)AN(©O)

@  FE Q)
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39) In Inflectional and Derivational morphology
(A) ‘- er’ in ‘worker’ is a derivational suffix
(B) ‘- 87 in ‘this machine works well’ is an inflectional suffix
(C) ‘- s’ in ‘teachers’ ‘transit house’ is a derivational suffix
(D) ‘- ing’ in ‘this is a working lunch’ is a derivational suffix
Choose the most appropriate answer from the options given below :
(1) (A) and (D) Only
(2) (B) and (D) Only
(3) (A), (B) and (D) Only
(4) {B) and (C) Only

fawfrr SR sgeafayers wafaa 1,

(A R T YR s sgeafarers e 2

B TewRTEg S 1w O aiERE s g
© e gifve arw’ 1 we’ ws g Yo 2

O ‘Remuatdies’ 1 90w orafiges v 21

1<t T e foshed | & wa® 3ugwh 3 1 =9 i

(1) F3d (A) (D)

FON S—r—y D AT TN
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40) Which of the following is an adjunct in the string ‘the book of poems with the red cover’?
(A) the book
(B) of poems
(C) the book of poems
(D) with the red cover
Choose the most appropriate answer from the options given below :
(1) (A) and (B} Only
(2) (B) and (C) Only
(3) (B) Only
(4) (D) Only

Frefigd 38 S -1 3 5 3ATF 910 98 2 I& S i’ 1 eqed 8
A 3TYH

® 3

(© g AB T

(D) TRIEFR

= faw Tu fasreai # A word 3ugh ST = e
1) %9 (A) AR (B)

2  &ad (B) (O

3 9 (B)

4 wHad D)
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41) If X governs Y, then

(A) X m-commands Y

(B) Y m-commands X

(C) No barrier intervenes between X and Y

(D) Barriers need to be present between X and Y

(E) The maximal projection doxminating X, dominates Y as well
Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) {B) and (C) Only

(3) (A), (C) and (E) Only

(4) (B), (D) and (E) Only

7fe X, Y fafe wan 2, 9

() X, Y % UH-FATS FE 3

(B) Y, X I-FUIE FE@ 3

(C)  FE IFatia X 3 Y &1 raddil 74 g 2

(D) X 3R Y% s1a0e &1 39186 T TS 2

(E) X9tz w1 aren 3309 w& Y W off grefl gt 2

1t fou 1u faeredl o W wee 3ugth I T < ShIToT;
(1) = (A) 3 (B)

(2 wEE (B) I (C)

(3)  FEE (), (C) I (B)

(4) %99 (B). (D) AN (E)
[Question ID = 5782][Question Description = Q41_Linguistics_SHAAN_20NOV_S51_Shift2]
1.1

[Option ID = 22576]
2. 2

[Option ID = 22577]
3.3

[Option ID = 22578]
4, 4

[Option ID = 22579]

42}y Which of the following is true for procrastinate?

(A) All movements should occur as soon as possible

(B) An operation should take place only when it is needed and not before

(C) It prefers derivations which prefer movements until after spell-out

(D) Post ponement of movement until after spell-out is preferred so that the results of the movement do not affect PF

Choose the correct answer from the options given below :
(1) (A) Only

(2) (A), (B) and (C) Only

(3) (B), (C) and (D) Only

(4) (A) and (D) Only

Tl =S S e P e B
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Ay ol g=eE Uiy 29 efE
B) 3w asft i =i S SuEh STkl €1 SR sTawrEhdl 9 48 A1 eFT ey
(©) =z =geafa & aliad 312 S W 2132 o F15 HeIeH wi F0Ta o 8

(D)  EIF e 3T F w8 oo wufia forn san anfer wrem o5 aftor f o =0 yarfaa 3 =t

e fae o faaed 4 & wad SR 3w 9o ifsr
1) e (A)

(2) &= (A). B) IR (O)

3  %ad (B). (C) I (D)

@ e Q) D)
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43) Which one of the following is TRUE?

(A) “Person deixis” involves the speaker known as the first person, the addressee, and other significant
participants

(B) Spatial deixis manifests itself in the form of locative adverbs, and demonstratives
(C) Temporal deixis functions to locate points or intervals on the time axis

(D) Social deixis is exemplified by certain uses of pronouns

Choose the most appropriate answer from the options given below :

(1) (A) and (B) Only

(2) (A), (B) and (C) Only

(3) {B), (C) and (D) Only

(4) (A), (B), (C), (D)

Frafafea 48 R @ ad 87

@ ey Fafa-Fdm A vem gEs TE awm, SR ot o necaqyl e arii aftafers # § )

B e i sl fermnfasom sin frevien & 1 4 yee 3 31

(C)  wmtiE fafa-Fdn o wrl aaa & ag W Ragsl AR suai 61 el fuifa = gl
@)  wrTers FEafa -Fde < Iare & w9 1 AT o §53 IR A )

H= fon Mo fenet f @ w9 3ugw I w1 99 i
(1) == (A) S (B)

()  FHEE (A), (B) 3 (C)
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(3)
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Fad (B), (C) 3R (D)

Fad (A). (B). (C) AN (D)
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44}y Which of the following is correct?

(A) Locutionary Acts were explained by Austin
(B} Perlocution acts are performed by means of body language
(C) lllocutionary acts are not internal to locutionary act
(D) The illocutionary acts can not be performed via different locutionary act
Choose the most appropriate answer from the options given below :
(1) (A) Only
(2) (B) and (A) Only
(3) (C) and (D) Only
(4) (B) and (D) Only

Frafafga 44 R e 27

() R g =R 6 =re

(B) e I TR A 3 et 8 Frenfea g 2

(C) =t s or=H =AM & s1varafis 981 2

(D) IR FH faHy F=@ = F mem 8 frenfea 78 fru o

= fau T faereyl 1§ e 39w IR 1 =3 i

(D

2

(3

(4
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45) The German word ‘Stammbaum’ refers to which of the following one or ones?

prepp
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(A) Linguistic area and language contact
(B) Family tree and language diversification

(C) Dialect geography and wave theory

(D) Isoglosses and focal area

Choose the most appropriate answer from the options given below :
(1) (A), (C) Only

(2) (B) Only

(3} (B) and (C) Only

(4) (A) and (D) Only

19 7152 ‘Stammbaum’ FrafafRaa 1@ fraw [ fod gefim 27

(A)  oifSeR 2 TR s v
(B) il A 2R g fafateaso
(C) el wpiie 3Tk da /701 fagi

(D)  wEsI diaiEn H T 9

1t f3u Tu fasredt # W word 3ugd IaU e = Hifeu;
(1) a6 (A) I(C)

2 %ad (B)

3  ad (B) AR (C)

@ & (A) (D)
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46) Out of the following which two are the first two steps in the application of the compartive method?
(A) Assemble cognates

(B) Determine the status of similar correspondences

(C) Establish sound correspondences

(D) Reconstruct the proto-sounds

Choose the most appropriate answer from the options given below :

(1) (A) and (B) Only

(2) (A) and (C) Only

(3) (A} and (D) Only

(4) (B) and (D) Only

Tfaiad 4 8 &9 3 gemTens Uit < ST 98 31 R0 7

(A) | Ag=EEA
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(B)  UHEWH HAMCaIST o SToRl STEuRy
(C) Y& Hatfed Temad
(D)  WE-%E 6 gt

= fou o fomredi @ & wad 30w ST == A
(1) & (A) IR (B)
(2 e (A) O
(3) Fad (A) AN (D)

(4  Fad (B) IR (D)
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47) The English word ‘salary’ is derived from Latin ‘salarium’ meaning a soldier’s allotment of salt which then become a
soldier’s wage, and finally, refers to wages in general in English. What kind of semantic change is it?
(A) Displacement
(B) Synecdoche
(C) Widening
(D} Narrowing
Choose the most appropriate answer from the options given below :
(1) (A) and (B) Only
(2) (B) and (D) Only
(3) (C) Only
(4) (D) Only

Sl w1 weg Awl)’ |, Al Aeifem’ o sgeatn 2 fowem sl o foeell @fes o forg =mms 1 strEed =
U w18 dAfm 1 2R daa s e 3l SAde: SEE A g9 e WY e w1 T 4 Gee v
o197 fiedT 27

(A Ry
(B) SRS
(C) 3 fomn
D) % "wHE

=t fog T et d ¥ mew Iww SOt 1 =EA it
(1) = (A) R B)

(2) Faa (B) 31 (D)

=
Sk —— S
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48) Which of the following are true for Auxiliary language?

(A) It is an additional language used for wider communication in a community or across
communities
(B) Swahili and German fulfill this function in many African Countries

(C) Speakers often have limited proficiency in the auxiliary languages
(D) It is never functionally restricted

Choose the most appropriate answer from the options given below :

(1) (A), (B) and (C) Only

(2) (A) and (C) Only

(3) (C) and (D) Only

(4) (B) and (D) Only

Fferitaa o 4 =i -an a9 o foe a8 37

(a) ol wgET T wgErEl 4 oFR e Tl o ol yam i S aTel 98 U Sfaitn a2
(B) e o1fTeh! Sl W vt i snfw smard 3@ TR R 90 SR 2

(C)  waraeh it § svaer srnratt < wefroran wfifaa 2 21

(D)  SeRTATERsh B9 {38 F1 o difta 78 2

el T e e |  ward 39 I 1 = il
(1)  %ad Q). B) 3N (C)

2 e (A) J(0)

3  Had (C) IR (D)

@  wad (B) I (D)
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49} Which of the following are true for channel cues?

(A) They are paralinguistic features which signal a shift in interview situation
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(B) In Labovian sociolinguistics particular attention is paid to channel cues
(C) Labov insisted that each contextual style had to be accompanied by appropriate channel cues
(D) In particular, speech rate and laughter were not considered as channel cues

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only

(3) (A) and (D) Only

(4) (B) and ([}) Only

SeTgehdsh o foTd lH-a1 Tl 27

(&)

B

©

D)

A g Al 8 S wmeresrr i el U fteda = deed 3 21

AT TSI H <A gFasl ® Ay s e s g |

et 3 38 9T W 9 e R e vesienen Siell 3 ey vyfa S wiha 2R wifee |
ToreTg: 9T S AN EE ) <= Hehdsh T8 W1 ST )

e o o faereai 1 @ vl 3ugw ITH 9 il

ey

@

3

@

%A (A), (B) 3 (O)
Hadt (B), (C) 3 (D)
Fad (A) AN (D)

+ad (B) 31 (D)
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50) Which of the following is true for Labov’s New York departmental stores study?

(A) Labov believed that r-pronunciation before vowels was being re-introduced into New York speech from
above

(B) The introduction of r-pronunciation after vowels was a feature of the yonger people rather than of older
people

(C) This feature was more likely to occur as the formality level in speech increased and would be more likely at
the ends of words (floor) than before consonants (fourth)

(D) He set out to test his hypothesis by walking around three New York departmental stores which were
demarcated by the social-class group to which they catered

(E) From the shop assistant Labov would seek a careful repetition of ‘fourth floor’ by pretending not to hear the
initial response’

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B), (C), (D) and (E) Only

(3) (A), (C), (D) and (E} Only

(4) (A), (D) and {E) Only
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faeforfiaa 3 3 %1 e & = 0k feurdieg RR % Aeqa & fau wd 37

(A) AR EA o T 2 A o 9 U S % g - SR S T IR B @3
B) TR F IR rF IR ) YEIAT @ A b TG T I TINT T Afeeo 2

(C)  ¥@ 9T 1 AI=IITERal T 931, 79 38 AU h) FITaA1 ¢ Siid] & HRSE1 (fourth) % g4 i
g 1 913 o 31 H (floor) 3ol BaTaAT 2ftre Bl 2 |

M) Ak & dF Rudica ©i S TR IR grent 31 Wrepered 1 w1 wlemn T <o wanfomn o
e 31 TafE % 92 o 3 98 4d 21

(E) &H o U205 § old1d 9ok TN I A G 1 9gEER 398 aR-af FEaHIgEs fourth floor’
g o1l

= T e faeredi 4 @ ved Suge IR 1 < e
(1) e Q) AR(B)

(2)  %dFd (B), (C). (D) AR (E)

3  FEd (A), (C), (D) K (E)

@ ¥ (@A), (D) I (B)

[Question ID = 5791][Question Description = Q50_Linguistics_SHAAN_20NOV_S1_Shift2]
1. 1

[Option ID = 22612]
2. 2

[Option ID = 22613]
e

[Option ID = 22614]
4. 4

[Option ID = 22615]

51) Which of the following is/are not true about absolute ‘universal’?
(A) All languages have consonant and vowel sounds

(B) All languages distinguish nouns from verbs

(C) All languages mark subject agreement on the verb

(D) All languages have ways to form questions

Choose the most appropriate answer from the options given below :
(1) (A) and (B) Only

(2) {A), (B) and (D) Only

(3) (B) and (D) Only

(4) {A), (C) and (D) Only

‘T e’ o fawa 8 Fefofiad 0 R -8 FeR g T8 47
(A  wft gt A eE S A B

®  af and dEnal S e § O e )

() Wt i 1 Al - siffa 3 21

(D) =t arsi 3 wva 9E % 7l 2 2 )

1= fou 1 famreai o W wod Iy IAH F9 Fifsw;

(1) 9 (A) 3 (B)
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(2) 9 (A), (B) I (D)
(3) wad (B) AR (D)

@  F (A), (C) I (D)

[Question ID = 5792][Question Description = Q51_Linguistics_SHAAN_20NOV_51_5hift2]
1.1

[Option ID = 22616]
2. 2

[Option ID = 22617]
S

[Option ID = 22618]
4. 4

[Option ID = 22619]
52) Which of the following statements is true?

(A) The vowel / a / has developed a rounded and backed pronunciations in the east, the northwest and konkani
(B) The loss of aspiration in the Dardic group languages results in unaspirated voiced stops

(C) Hindi has / X / in its phonological system

(D) Aspirated voiced stops in Hindi has lost its aspiration in word initial position

Choose the most appropriate answer from the options given below :

(1) (A) Only

(2) (A) and (B) Only

(3) (D) Only

(4) (A), (B) and (C) Only

faofafas 19 Sh-w/8 wua w87

(A) 98, IR-afvam AR wwolt H TR ja/ T SHRO Fqferd 3R qvEia @ TR
(B)  Tfas wyE = AW A HLTITIOT % T B AT Ty TN ITA T B
(C) T 4 sah wafafae) sgemen d /X7 %)

(D) o o weg & @ T T HEMTOE FEY LI @ WRTHirdr & o 8 T )

= fw e faeredi | @ e 39gw IR &1 A il
1) FE @A)

(2) I (A) I (B)

3 FEE (D)

(4 &I (A), B) 3T (C)
[Question ID = 5793][Question Description = Q52_Linguistics_SHAAN_20NOV_S$1_Shift2]
1. 1

[Option ID = 22620]
2.3

[Option ID = 22621]
3. 3

[Option ID = 22622]
4, 4

[Option ID = 22623]
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53) Which of the following are true about the V; in a compound verb?

(A) The V;zis called a light verb

(B)
(C)
(D)
(E)

The V3is called a polar verb
The V3 is called an explicator verb
The V;is called a grammaticalized verb

The V3is called a de-lexicalized verb

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(B), (C), (D}, (E) Only

(A), (D), (E) Only

(A), (B), (C), (D) and (E) Only
(A), (C), (D), (E) Only

we foren 1 Ve % o § Fafefas 1 9 -3 wa7 w0 37

(A
(B)
©)

(D)

(E)

Vol &ftor forann =gd 21

Ve i g formn = 31

Vo faa=re o #gd 21
Vbl sreRfira fran = 21

Vool fasrseaivfisra foran srad 21

el feu e feredl § & weard 3ugth Iat 1 = i,

@

(2)

(3)

(4)

[Question ID = 5794][Question Description = Q53_Linguistics_SHAAM_20NQOV_S51_Shift2]

1.1

%9l (B), (C), (D) 3 (E)
3 (A). (D) 3 (E)
F5 (A). (B), (C). (D) 3N (E)

e (A). (C), (D) 3 (E)

[Option ID = 22624]

2.2

[Option ID = 22625]

353

[Option ID = 22626]

4, 4

[Option ID = 22627]

54) Read the following statements carefully and choose the most appropriate answer with reference to ‘error’ ;

(A)
(B)
(C)
(D)

There is no difference between ‘mistake’ and ‘error’

Errors belong to the level of ‘competence’

Mistakes are systematic when errors are not

Errors are systematic when mistakes are not

Choose the most appropriate answer from the options given below :

(1)
(2)
(3)
(4)

(A) Only

(B} and (C) Only
(B) and (D) Only
(A} and (D) Only

prepp
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fmfariiaa el il STFEE Ue IR ‘Jfe’ 3 e 1 Tl Iugd St &l 954 F:
A T A gy | ST B
(B)  Ffear umed F W W ER FI

©  srfeal e B € wgfeat @)
D) I ST B § W A 6

et fom o faerea | @ werd 3ugw SR wa i
(1) %3 (A)

(2) % (B) 3L (C)

(3) e (B) S (D)

(4) 9 (A) (D)

[Question ID = 5795][Question Description = Q54_Linguistics_ SHAAN_20NQV_51_Shift2]
1.

[Option ID = 22628]
3.2

[Option ID = 22629]
8

[Option ID = 22630]
4, 4

[Option ID = 22631]

55) CHILDES is
(A) A computer program for teching children new words
(B) Child directed speech by adults
(C) A computerized database of child speech transcript
(D) An electronic child language database
Choose the most appropriate answer from the options given below :
(1) (A) and (C) Only
(2) (C) and (D) Only
(3) (A}, (C), (D} Only
(4) (B) Only

CHILDES &1 37

(&) =i R T e e o fore s s
®) I g AT {Rfm anE

(©) o=l % AT AT 1 FOEUEse SRR

(D) TSR S 9191 SREW

= fog e ferredi o O de8 3T I = RN
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1) F&E @A) IR(C)

(2) % (C) A (D)

(8)  %ad (A), (C) 3 (D)
4  ha B)

[Question ID = 5796][Question Description = Q55_Linguistics_SHAAN_20NQV_S1_Shift2]
1.1

[Option ID = 22632]
2. 2

[Option ID = 22633]
T

[Option ID = 22634]
4, 4

[Option ID = 22635]

56) Choose the correct answer :
(A) Symbolic representation can be a powerful source of meaning in advertisements
(B) Symbols are associations of ideas

(C) Symbols are culturally agreed conventions so it is perfectly possible that it may not give the same meaning in
another culture

(D) For all the above reasons symbols are not very useful for advertisers
Choose the most appropriate answer from the options given below :

(1) (A} and (D) Only

(2) (A}, (B) and (D) Only

(3) (A), (B} and (C) Only

(4) (A), (B), (C) and (D) Only

e I w1 997 Fifsna

(A)  weEHTeHe wiaETor i | stel & garaeTe Sid 8 9% )
®) R A e & e 3 R
(©) v eentd fafire gk € o =8 wof: 9@ @ for 3ol Segfa ¥ 9o wm ol =i Fenetl

(D) 3T f FHron B et fommaeraioli & fore siga svantt 34 2

= faw e fererei 9 & Tad SRR SO A il
) FE (A) D)

@) FE (A), (B) D)

(3)  Fad (A), (B) 3 (O)

@) A (A), B), (C) I (D)
[Question ID = 5797][Question Description = Q56_Linguistics_SHAAN_20NOV_S1_Shift2]
1. 1

[Option ID = 22636]
2. 2

[Option ID = 22637]
| 3.3
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[Option ID = 22638]

4, 4

[Option ID = 22639]

57)

Match List | with List Il :
List |

{(A) Forensic Linguistics

(B} Socio Linguistics

{C) Neuro Linguistics

(D)} Stylistics

List Il
{1) Language and Literature
(Il Language and Society
{Ill) Language and Brain

(IV}y Application of linguistics to
criminology issues

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(I), (C)-(IIN), (D)-(IV)
(2) W)=, (B)-(1), (C)-(1), (D)-(IV)
(3)  (W)-(IV), (B)-(I), (C)-(l), (D)-(1)
(4)  (A)-(In), (B)-(1¥), (C)-(N), (D)-(N)
A= 1< a1 g 1 =1 faes ifeg)

A1

(&) TR araEE
(B) G-I
(C) e wTETE
(D) efifamm

-2 fog 7o fomredl f @ w@ 3w T = il

(1)
(2)
3
4

[Question ID = 5798][Question Description = Q57_Linguistics_SHAAN_20NOV_51_Shift2]

1. 1

(A)-O. (B-(ID. (O-IID), (D)-AV)
(4)-11D, (B)-(ID. (C)-D. (D)-@V)
(A)-AV), (B)-(1). (C)-ALD), D)-(D)
(4)-(1D), (B)-(IV). (O)-dD, (D)-I)

[Option 1D = 22640]

i

[Option ID = 22641]

3.3

[Option ID = 22642)

4. 4

[Option ID = 22643]

58) Match List | with List Il ;

(A)

(B)
(€

List |

Fp - Fundamental tone

F - First formant

Fz Second formant

g#-11

(D i A afze
(ID 791 3T AT

(IID) 71 3R Hirs=r

(IV) syaue fagm gasf moet 9 grarfasme sgam

List I

()  Stop consonant + vowel
sequence

(Il Voice - vocal card vibration

(Ill}y Vowel height

prepp
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(D) Fz transition, abrupt change to

| : front-back
steadystate (IV) Vowel : front-bac

Choose the correct answer from the options given below :

(1
(2)
(3)
(4)

(A)-(11}, (B)-(1), (C)-(IV), (D)-(1)
(A)-(0), (B)-(I), (C)-(1V), (D)-(IN)
(A)-d}, (B)-(1), (C)-(lIN), (D)-(IV)
(A)-(IV}, (B)-(M), (C)-(11), (D)-{1)

= 15 e 3Eh 11 0 firem i
-1 11
(A) F, SAraryd a (D  vasi o4 + WUHA
(B) F,wuq %z (D) =iy -GSl F9
(C) F, fadm $rdve (D) s 3
(D) F, ggqu-Rafq 1 s/ames qiEd (IV) T 3W-9%d
1 e o faredi 1 © o 3% o =R i
1 (A)-(ID. (B)-(IID, (C)-(AV), (D)-(D
@2  (A-O. ®-ID. (O)-aV), (D)-IID)
3)  (A)-Dn. B)-D), (C)-(I1D), (D)-IV)
4 (A)-(IV). (B)-(I1D). (C)-(1L). (D)-(D

[Question ID = 5799][Question Description = Q58_Linguistics_SHAAN_20NOV_S51_Shift2]

ti:

[Option 1D = 22644)]

2. 2

[Option ID = 22645]

3. 3

[Option ID = 22646]

4. 4

[Option ID = 22647]

59) Match List | with List Il 2

List | List Il

(A) Blue tooth ()] Left - headed endocentric
compound

(B) Walking stick (II) Right - headed endocentric

compound
(C) Boy friend (llly Copulative compound
(D} Attorney General (I¥) Exocentric compound

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

el

(A)-(1), (B)-(In), (C)-(ll), (D)-(IV)
(A)-(IV}), (B)-(1), (C)-(11), (D)-{1)
(A)-(IV}), (B)-(), (C)-(l11), (D)-{1)
(A)-(lny, (B)-(11), (C)-(IV), (D)-(1)

1% g =t 1T 1 e Shifsmg)

[ N— | 3 ARy ey

prepp
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-1
(A) s
(B) < =
(© %

i

(D) RIS

19 fen o foeredi d & v st o1 e i

1 A)-O, @-1D, (O)-1D), (D)-IV)
@  (A)-IOV), (B)-dI), (C)-(IL), (D)-(D)
3  (A)-AV). B)-0D). (C)-(1D. (D)D)
@  (A-AD). B)-aD). (C)-IV). (D)-D

gI-11
@O TR-ILT AW H=Ew A
D) TR-Tee 3d: FiEF gu™
D z58T™

L

o

[Question ID = 5800][Question Description = Q59_Linguistics_SHAAN_20NOV_51_5hift2]

1.1

[Option ID = 22648]
2. 2

[Option ID = 22649]
3 3

[Option ID = 22650]
4. 4

[Option ID = 22651]

60) Match List | with List Il :
List |
(A) Copy theory

(B} Last resort

(C) Strong feature

(D)} Spell - out

List Il
(1) replaces trace theory

(I needs to be checked off as soon
as it enters the derivation

(lll) a syntactic operation which is
applicable only when other options are
prohibited

(I¥) must apply at least once, and if
its single application is sufficient for
the derivation to converge, economy
considerations should block

Choose the correct answer from the options given below ;

(1) (A1), (B)-(IN), (C)-(IN), (D)-(IV)
(2)  (A)(), (B)-(IM), (C)-(I1), (D)-(IV)
(3) (A1), (B)-(1V), (CO)-(), (D)-(IN)
(4) (A}, (B)-(), (C)-(lI}, (D)-(IN)

=t 15wy gt T = fiem fifsm)
-1
(A) = g

(B) Afam 1

(C) wea e

s

T-IT

(D 2u foagm = sfoenita =@ 2|
(ID =z I 3 =Ycata ¥ YW WAl 3, D A=
=i = =tEn)

() @ oS a@ten =1 o aF 2 o™
17 forren wfafig 2
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(D) == TS (IV) FA-H-F8 TH AR T 0 AT SR AR
THH Tohel SN ofeTe % faem % for
wiE 2, dl S0 SN SHETT B S 3

T v o fed § O wEt SR W 9 Hie

1  @-O. B-1D, (O-1D, (D)-AV)

2y  (A-D, B)-AID). (O)-II), (D)-AV)

(3) (A)-dID. B)-AV). (C)-(D), (D)-(ID)

4  @A-av). (B)-@, (C)-dD, (D)-AID)
[Question ID = 5801][Question Description = Q60_Linguistics_SHAAM_20NQOV_S1_Shift2]
1. 1

[Option ID = 22652]
.00

[Option ID = 22653]
3.3

[Option ID = 22654]
4. 4

[Option ID = 22655]

61) Match List | with List Il 2

List | List Il
(A} John Chewed it with his teeth (I)  Improbability
(B} The balloon rose ever lower (I} Zeugma

(C) John expired the same day as

lll) Dissonance
his driving licence L)

{D} The puppy finished off a whole

| P
bottle of whisky (IV) Pleonasm

Choose the correct answer from the options given below :
(1) (A=), (B)-(I1), (C)-(IN), (D)-(IV)
(2) (A=), (B)-(lI), (C)-(IV), (D)-(I)
(3) (A}, (B)-(I¥), (C)-(I1), (D)-()
(4)  (A)-(IV), (B)-(lID), (C)-(I), (D)-(I)

= 1ok el g I 1 e i)

g1 eI
@ Smeefakiady (M S
B) 7 SeE U wF AT dD sy

(C) TRugaurEcdn e vy feagrfanasta (11 fagwfea
(D) = udi fisfwe 3l U gia e o fSehl (IV) YeeTiaa

= feu o famegi 9 @ g 39 1 97 fifva .

1y A-O. B®)-AD), (O-IID), (D)-AV)
2y  @W-aD. B)-AID. (O)-AV). (D)-D
3  A-AI), B-av). (O-aDh. (D)-(D
4  @A-AV), B)-ID. (C)-AD. D)-T)

[Question ID = 5802][Question Description = Q61_Linguistics_SHAAN_20NOV_S1_Shift2]
1. 1
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[Option 1D = 22656]
T

[Option ID = 22657]
3.3

[Option ID = 22658]
4. 4

[Option ID = 22659]

62) Match List | with List Il 2
List | List Il

(A) | broke this tooth first and then

| Empathetic
that one next M 2

{B) He looked down and saw the gun

: this was the murder weapon, he (I1y Discourse deictic
realized

{(C) It sounded like this ; whoosh () Transposed

(D) He went and hit that man (IV) Gestural contrastive

Choose the correct answer from the options given below ;
(1) (A)-(v}, (B)-(I1), (C)-(I), (D)-(I)
(2)  (A)-(1), (B)-(IN), (C)-(IN), (D)-(IV)
(3)  (A)-(l1}, (B)-(M), (C)-(IV), (D)-(I)
(4)  (A)-(ID), (B)-(11), (C)-(), (D)-(IV)

F=H 13 |1 = 11 31 e i)

g1 gH-11
(A) o1 T fen Ty o g 39 22 99 A @ dEgfds
® dgeEesElgdizm,; udmgusiamE, () wyd Hs

7 Taensse
(C) Fureee s fou: = (1D fadfa
D) ddlefeizim @IV) Fniens s
919 o o fospeat 9 & Wl 39 w1 =ram fifsn

(1) (A)-(IV). (B)-A1D). (C)-dD. D)-D

(2) (A)-D). (B)-dD. (O)-IID. (D)-IV)

(3) (A)-(ID. (B)-(IID). (C)-(IV). (D)-(D

4 (A)-(I1D), (B)-(II), (C)-(D), (D)-IV)
[Question ID = 5803][Question Description = Q62_Linguistics_SHAAN_20NQV_S51_Shift2]
1. 1

[Option ID = 22660]
2. 2

[Option ID = 22661]
3. 3

[Option ID = 22662]
4, 4

[Option ID = 22663]

63) Match List | with List Il :
List | List Il
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{A) The regularity principle () isogloss

{B) Lexical diffusion {I) pidgin

(C) A linguistic feature that marks

the boundary of an area in which it is (lll} Meogrammarian hypothesis
used

{D} A minimal contact language {(IV) William Wang

Choose the correct answer from the options given below :
(1) (A)-(ll}, (B)-()), (C)=(IV}, (D)-(IN)
(2)  (A)-(IID, (B)-(IV), (C)-(1), (D)-()
(3)  {(A)-(l), (B)-(I), (C)-(I1), (D)-(IV)
(4)  (A)-(ll}, (B)-(IV), (C)-(IN), (D)-(1)

= 1% wne g 1161 femm irfsm)
-1 -1

@A) Fafiaas fage @  wEay Hawa

B) s fao (Ip A

(C) U= WiiteR AT S 30 9 e FIHM (1D TSSaTeRvTeR YTEed
= fafa wan 3

(D) Hegay Hegsh I (av) faferm

= few o fasregi 1§ 3w 39 1 =rE i

(1) (A)-1D), (B)-D. (O-0V), (D)-(1D
(2) (A)-IA1D). B)-AV). (O)-(D), M)-(ID)
3 A-O. B)-ID, (C)-(ID. (D)-IV)
@  A-d), B-Av), (O)-01m), MD)-M
[Question ID = 5804][Question Description = Q63_Linguistics_SHAAN_2O0NOV_51_Shift2]

Tl

[Option ID = 22664]
2. 2

[Option ID = 22665]
3.3

[Option ID = 22666]
4. 4

[Option ID = 22667]

64) Match List | with List Il 2
List | List Il

phone call, business meeting,

N
() oente lesson, blog

B) Topic () holidays, sport, socielinguistics,

politics
(C) Setting (lll) at home, in classroom, in office
(D) Key (IV) serious, jocular, sarcastic

Choose the correct answer from the options given below :
(1 W-(0), B)-(), (C)-(I), (D)-(IV)
(2) (A=), (B)-(lI), (C)-(IV), (D)-(I)
- (3) (M-I, (B)-(1V), (C)-(1), (D)-(1)

prepp
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(4)  (A)-(V), (B)-(I), (C)-(lI}, (D)-(1IT)

= 1% o gl 11 1 Tierrs i)

-1 ell-II
4 fa=n (@) FF T, SFHE 33, UI3, sl
(B) fawa (ID)  S{SRT, G, FaS SieTfasm, asEifa
(© afn (D) W, F FHH, Friea i
D) Fell @V) Tivfiy, Forr, sermene
e fou e faercai # @ wdl I F1 9T FIfC

@0 A-D, B)-1D. (C)-dD), (D)-0V)
@  (A-AD. B)-ID. (C)-AV), (D)-D
D  (A-dID). B)-AV). (C)-D, (D)-AD
@  (A-AV), B)-D. (O)-1D, (D)-dID

[Question ID = 5805][Question Description = Q64_Linguistics_SHAAM_20NOV_S1_Shift2]
1. 1

[Option ID = 22668]
5, 3

[Option ID = 22669]
3.3

[Option ID = 22670]
4. 4

[Option ID = 22671]

65) Match List | with List Il :
List | List 11

(I) Statements about forms that
{A) Formal universals relate to the presence of one property
to the presence of other property

(I Statements on the features of

{B) Substantive universals ;
language that are exceptionless

(lll) Statements on the elements of
grammar that are posited as universals
such as verb, noun, subject and
object etc.,

(C) Absolutive universals

{IV) Statements on the rules of

(D) Implicational universals
grammer

Choose the correct answer from the options given below :
(1) (A)-(), (B)-(I), (C)-(IV), (D}-(I)
(2)  (A)-(V), (B)-(lID), (C)-(W), (D)-()
(3) (A1), (B)-(IN), (C)-(IV}, (D)-(1IT)
(4) (A=), (B)-(I), (C)-(IV}, (D)-(1IT)

T 1% e I 10 =1 e i)
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BB -1

(A) FUTCHH Q&Y (M 3 9 Gt FE S qove ) sufeafy
=1 gE e ) ufeafa @ wey warfia ww@
S

(B) TIIH AEAH AD o % FRuaTe e @ gaitE wea

(C) TFrfirs g™ (D =Y F 31 g 8 gefaa wen
wre % w9 9 e Sran 2, S R, |,

D) Ffemds mEdm AV) =7l fm) Q vafte em

A foo o fashedi 4 8 Ul 3R 9aa i

1)  (A-JID, B)-AD), (C)-AV), (D)-(D

2  (A)-@V), B)-dll), (O)-ai). D)-D

(3 (A)-0). (B)-(ID). (O)-(IV), (D)-(11I)

4  (A-AD. B-D. (O)-aV), (D)-d1D
[Question ID = 5806][Question Description = Q65_Linguistics_SHAAN_20NOV_S51_Shift2]
1. 1

[Option ID = 22672)
2.2

[Option ID = 22673]
3.3

[Option ID = 22674]
4. 4

[Option ID = 22675]

66) Match List | with List Il ;

List | List Il
(A} Interlanguage (I} Ivan Paviov
(B} Intreducing applied linguistics (II) Alan Davies
(C} Classical conditioning (I} Larry Selinker
(D) Language testing (IvV) S. Pit Corder

Choose the correct answer from the options given below ;
(1) (A)-(v}, (B)-(I), (C)-(Il}, (D)-(1N)
(2)  (A)-(), (B)-(v), (C)-(1), (D)-(I)
(3)  (A)-(1), (B)-(IM), (C)-(I), (D)-(IV)
(4)  (A)-(l), (B)-(IN), (C)-(IV}, (D)-(IN)

gl 13w g=h 11 1 faam Hifsm)
g1 o=-II
(A)  STATIT O FEETEHE
(B) Y9 wfoae w1 uftea D A fom
(C) =il s1gaer (D =H A
(D) e wdiegor Iv) g, o= Fy
1 féu o fereai d @ wd S @ =g Aifsn

D (A)-av), B)-O, (G-I, (D)D)
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2  (A-ID. B)-aV). (O)-I), (D)-ID
3  A-O. ®-AID), (O-1D. (D)-AV)
@  A-O. ®-dD. (O-aV), (D)-1ID

[Question ID = 5807][Question Description = Q66_Linguistics_SHAAN_20NOV_51_5hift2]

1.1

[Option ID = 22676]

2. 2

[Option ID = 22677]

i

[Option ID = 22678]

4. 4

[Option ID = 22679]

67) Match List | with List Il :

List | List Il

(A) In Generative phonology
diacritic features are
introduced into the
derivation of formatives to account
for the apparently exceptional
behaviour of segments

(B) Hello,....Can you hear me? (I  Emotive function

(C) Chandigarh is two hundred and
sixty five kilometers from Delhi

(D) Oh!it's still a long way from

(I¥) Phatic function
home

Choose the correct answer from the options given below :

(1) (A)-(Iln), (B)-(1), (C)-( I}, (D)-(IV)
(2)  (A)-(I), (B)-(I), (C)-(IN), (D)-(IV)
(3) (A1}, (B)-(N1), (C)-(IV), (D)-(I)
(4)  (A)-(llN), (B)-(I¥), (C)-(1), (D)-(II)
=i 1<k @ g 11 1 faers shifse)
gHi-1
Q) I Wim fam 1 faows afimaw germl @ deaned usd
=1 =gt o s 2 8 S @uei % 3=
SIFER % TIE §Y Y FR 81 8
(B) wl,.. 3 Y fegrdi? (ID) wragaH Y

(©) <R 39 g goe ve T wiga foredl fied (1) wonifiyes weerd
% T
D) A | wafRavdmasmEmn AV) TS g

= v o fawedi 0 3 ad 3w % =a i

1 A-AD. B)-O. ©)-(ID. (D)-AV)
@  A-O, B)-ID. (O-1ID. (D)-AV)
3  A-ID, B)-D. (C)-1AV), (D)-[)
4  (&)-dD, B-av), (O-D. D)-ID)

| [Question ID = 5808][Question Description = Q67_Linguistics_SHAAN_20NOV_51_5Shift2]

() Refrential function

(Ill) Metalingual functicn

-1
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|

[Option ID = 22680]

2. 2

[Option ID = 22681]

3

[Option ID = 22682]

4, 4

[Option ID = 22683]

68) Arrange the following chronologically :

(A)
(B)
(C)
(D)
(E)

Grice, H.P : Meaning

Grice HP : Presupposition and conversational implicature
Grice HP : Vacuous nhames

Grice, HP : Logic and conversation

Grice, HP : Studies in the ways of words

Choose the correct answer from the options given below :

(1) (A), (B}, (C), (D), (E)

(2) (E}, (D), (C), (B), (A)

(3) (B), (C), (D), (A), (E)

(4) (A), (D), (C), (B), (E)
freaferfia =i smrersRmgaT safed |
(A)  TEE,uEL . ad
(B) TG, TS, 9. : gHard A wary g
(C) eE, wE. . - T=F 14
D) wEE, v, . ; qeh s Eao
By wgw, va. 9. : vee o wefa w1 s
oo o foereal 0 @ wd 3 w1 = ke .
1 A 3. C). D). (E
2) (E), (D), (C). (B). (A)
3) (B), (C). (D). (A). (E)
@ (A). (D). (C), (B). (E)

[Question ID = 5809][Question Description = Q68_Linguistics_SHAAN_20NOV_51_5hift2]

1.1

[Option ID = 22684]

2. 2

[Option ID = 22685]

L

[Option ID = 22686]

4, 4

[Option ID = 22687]

69) Put the following concepts in an order that reflects their evolution over a period of time :

(A)
(B)
(C)
(D)

Mother tongue
Need to communicate
Two languages in contact

Pidginization

prepp
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(E) Creolization

Choose the correct answer from the options given below :
(1) (B), (D}, (C), (A), (E)

(2) (C), (B), (D), (E), (A)

(3) (D), (A), (C), (B), (E)

(4) (A), (C), (B), (D), (E)

f=frfias srauronaTi =1 39 0 1 o TR Uk Frenait 39 - Taed vesia 2l

(A)  HGATT
(B) WISV hI SR
(C) =1 ATAT 1 qraeh

M) s
(E) forareferm
= few e faeregi 3 8 Bl 39 w1 =n i

(1)  (B). D). ©C), A). (B
@  (©.®B). 0. E.w
@ D). ©O).B.E
@ A, ©) ®. D). E

[Question ID = 5810][Question Description = Q69_Linguistics_SHAAN_20NOV_S51_Shift2]
1. 1

[Option ID = 22688)
Pl

[Option ID = 22689]
3.3

[Option ID = 22690]
4. 4

[Option ID = 22691]

70) In what order do the following occur in optimality theory?
(A) Selection takes place through the use of Well-formedness constraints
(B) Low ranked constraints may be violated by higher-ranked constraints

(C) The candidate representation which best satisfies the ranked constraint hierarchy is the output
form

(D) Well-formed constraints are ranked in a hierarchy of relevance on a language particular basis
(E) An input representation is associated with a class of candidate output representations
Choose the correct answer from the options given below :

(1) (D), (C), (B), (A), (E)

(2} (A, (C), (E), (D), (B)

(3}  (B), (D), (A), (C), (E)

(4} (E), (A), (D), (B), (C)

geawal’ fagia (srifeaferd feema) A frofafaa fora wn 4 o 2.

(A) TS @A F YHI 3 Ter T 31 2
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(B)  IHEMIEE A A G areansl o 3gE SR wed] B

(C)  Hrif-ies STeAT AN i I9H T Y AP HE Are Aeff wfcrdor s w9 g 3
(D) Y3 serard v O fosis snem oEaan % srgwa ¥ diaried

() U HEF YREI0 U ef] argl aiawuor i 9ol 9 geifee 86 2

3 feu o fasmedi d 9w 3o gaa ifs .

1 D). (O B). ). (E)
2 W, O, E. D). B
@)  B). D), A). (O, (E)
@ BE.A.O0.6.0

[Question ID = 5811][Question Description = Q70_Linguistics_SHAAN_20NQV_S51_Shift2]
T

[Option ID = 22692]
2. 2

[Option ID = 22693]
3.3

[Option ID = 22694]
4, 4

[Option ID = 22695]

71) Arrange the following in chronological order :
(A) Steven Abney: The English Noun pharse in its sentential aspect
(B) Noam Chomsky: Remarks on nominalization
(C) Juan Uriagreka: Rhyme and Reason: An indroduction to minimalist syntax
(D) J.F. Ross: Constraints on variables in syntax
(E) R.B. Lees: The Grammar of English Nominalizations
Choose the correct answer from the options given below :
(1) (A), (B), (C), (D), (E)
(2) (C), (A), (E), (D), (B)
(3) (E), (D), (B}, (A), (C)
(4) (D), (C), (A), (B), (E)

Freferiiaa =1 FHTeTsRHTER SAafed i

(A) R UEH : g 3T 913 BNl 3 308 AR e streee

® AmEh ; fored &fm TifreeEsE

(C) Vo gfeamiet ; a3y v {iv[: w3 3een ¢ fufmfire fardea
@) .Uk FAGH AN i 39 {adaw

(E) W Aiem : 3w s iaw Finersy

= fou mu famrod § @ vt S 199 Fifw

1 A, ®,0.D), E
2 (O, @A), E). D), B
3 . D), B, &) O
@b D)), A). D) (E)

| [Question ID = 5812][Question Description = Q71_Linguistics_SHAAN_20NOV_51_Shift2]
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[Option ID = 22696]
1)

[Option ID = 22697]
3.3

[Option ID = 22698]
4, 4

[Option ID = 22699]

72) Arrange the following teaching methods and hypotheses in terms of their appearance from the earliest to the latest :
(A) Error Analysis
(B) Communicative Language Teaching
(C) Contrastive Analysis
(D} Input Hypothesis
(E) Monitor Model
Choose the correct answer from the options given below
(1) (D), (C), (B), (A), (E)
(2) (A), (C), (D), (B}, (E)
(3) (B), (A}, (C), (E), (D)
(4) (C), (A), (B), (E), (D)

faferfag rea= yonfer ve araea=nat] =) 395 31 & %0 H T 3 31faq 9 srafem =1

(&) Ffe favero
B)  gusofry v faem
(C) TR WIEeHI

@ g freyd

A feu e Tosredi 9 @ wdi 3™ = Fifse

@ D). ©). B. ). E
2y @@.©). D). B.H
3y (B). A), (©). (E). (D)
@ (0. @A), ®), (E). D)

[Question ID = 5813][Question Description = Q72_Linguistics_SHAAM_20NQOV_S51_Shift2]
1. 1

[Option ID = 22700]
2. 2

[Option ID = 22701]
3 3

[Option ID = 22702]
4. 4

[Option ID = 22703]
73) Arrange the following in chronological order :
{A) Rene Appel and Pieter Muysken. ‘Language contact and Bilingualism’
(B) John B. Pride and Janet Holmes ‘Sociclinguistics’

(C) Lesely Milroy ‘Language and Social Networks’



www.prepp.in . repp

Your Personal Exams Guide
| (D) Peter Trudgill. ‘Introducing language and society’

(E) $.G. Thomason. ‘Language contact : An Introduction’
Choose the correct answer from the options given below
(1) (D), (B), (C}, (A}, (E} (2) (C), (D), (E), (B), (A}

(3) (A), (E), (D), (B), (C} (4) (B), (C), (D}, (A), (E)
frefafen w1 wesragea srafer Fifse
Q) o Ue fit g ‘SR e U amgfenmmifers
(B) A yge vz S g wifirh fafafes’
(€ i e See de sive deady’
(D) et zefiet ‘graiegtan wiast T degdY’
(E) 7 orrem A e T Sean’

4 fera o faeregi 9 @ vt 39w g3 i

@ D). B, 0. . (E)
2  (©. D). (B). B). (A)
3 @A) E, D). . ©)
4y  (B). (O, D). A), (E)

[Question ID = 5814][Question Description = Q73_Linguistics_SHAAN_20NOV_51_5Shift2]
1.1

[Option 1D = 22704]
2. 2

[Option ID = 22705]
3.3

[Option ID = 22706]
4, 4
[Option ID = 22707]
74) Arrange the following in chronological order ;
(A) Chatterji, S.K, : Indo Aryan and Hindi
(B) Grierson, George : Linguistic Survey of India
(C) Hook, Peter : India as a Semantic Area
(D) Colin P, Masica : The Indo-Aryan Languages
(E) Turner, R.L : A comparative dictionary of Indo-Aryan Languages
Choose the correct answer from the options given below :
(1) (A), (B}, (C), (D}, (E} (2) (E), (D}, (C), (B), (A}

(3) (A), (B}, (C), (E), (D} (4) (B), (A), (C), (D), (E)
TTeTier =Rl SRTeTsRATHT Saufeerd =)

(A) =Sl T . ; 3E-3rie U fe=d
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(B) YA, &= TAFIRCsh 99 AT 1S3

(©)  gh, et sfem Us v @l ufen

D)  Frier di. G : T2 21— 211 el

(B) oW, AR v, uwrifa feanmd ofme g€l - sinde oiasiy

1 Tew o fasred) 8 @ w39 199 hifau

O @, ®),©). D) E
@  (®. D) ©).®), @
@ @, ®),©.®, D
@  ®.@A),©). D, ®

[Question ID = 5815][Question Description = Q74_Linguistics_ SHAAN_20NQOV_S1_Shift2]
1. 1

[Option ID = 22708]
2. 2

[Option ID = 22709]
R

[Option ID = 22710]
4, 4

[Option ID = 22711]
75) Statement | : At the peak of his career, Hockett was best known for his textbook “A Course in modern linguistics”.
Statement Il : It was written to explore frontiers and indulge in flights of fancy.
In the light of the above statement, Choose the most appropriate answer from the options below :
(1) Both Statement | and Statement Il are correct (2) Both Statement | and Statement |l are incorrect

(3) Statement | is correct but Statement Il is incorrect (4) Statement | is incorrect but Statement Il is correct

A 3 whed fea o #:

FUAI: o wrfe * Rret e H it wnfa S9h veapas U s 39 vred fafatesa’ 9

forety o

FAFIL: 28 HAT = TR HR FeuH1 ol ITH W o Terg Teran o an |
IRI oA % Trer 1, 19 oo o forredi A & w=@ uger It wae difs

(1)  FHY ISR w2
(2) oA I IS e &
(3) YA IHA 3, Afr HYA I 7e1d &

(4) FHEITAR, A SRR IIEd2

[Question ID = 5816][Question Description = Q75_Linguistics_SHAAM_20NQOV_S51_Shift2]
1. 1
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[Option ID = 22712
Pl

[Option ID = 22713]
3.3

[Option ID = 22714]
4. 4

[Option ID = 22715]
76) Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R,
Assertion (A) : The English word ‘biotech’ is an example of blending process.
Reason (R) : The English words ‘biology’ and technology are blended to give ‘biotech’.
In the light of the above statements, Choose the correct answer from the options below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R} are true and (R} is NOT the correct explanation of (A}

(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

21 @ e fou 77a 3: vk fiem (Assertion A) o w4 # farflad @ 1 g6 36 9 (Reason R) & ¥4
4;

fiRe (A) {1 o 9eE ‘STYT (biotech)’ WIseTERY = UTsHE 1 38 B

FRT (R) AUSH & TeEl aeirsi (biology) R SIS (technology) ¥ W@ T

"1 (biotech) =T ST 21
IULITH e o AT o, 1= feu e fawreai 1 8 W 3o 1 =31 s

(1) (A) 3R (R) aHi T 3 3R (R), (A) il v =3 2
(2) (A 3 (R) HT T ®, wfFa (R), (A) it vt smrem 3 2
(3 (A TR, dfF (R) SIUA T

@ A A, AR R)TAE
[Question ID = 5817][Question Description = Q76_Linguistics_SHAAN_20NOV_51_Shift2]
1. 1

[Option ID = 22716]
2. 2

[Option ID = 22717]
3.3

[Option ID = 22718)]
4, 4

[Option ID = 22719]

77) Statement | : A clitic, which is a reduced form of a free morpheme (word), does not have to occur at the place where
its non-reduced form could occur.

Statement Il : A clitic is a type of obligatorily bound morph which is generally distinguished from an affix on the basis of its
function.

In the light of the above statements, Choose the most appropriate answer from the options given below.
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(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct

A=t 21 e feuma 2

FYA1: g S Wad ®UW W6 K SYHd T BN 3, 98 IW WM W e & FI 3 wel 3%

r-Trgpa 9 Y T B

FYAIL: Y O AFAR: 98 F9 F THL BRI 3 S 506 A o IR Yead 8 WHT-=-: ST Bl 21
IULITh U % ATl H, 1= e e Toshed] H 4 Ae 3o 1 <[ e

(1) A iR N a2
2 wYA I SIS Tera B
(3) A [ 9 2, wfera weA 11 7era 2

(4 FEAITHAR, AR R Il T R

[Question ID = 5818][Question Description = Q77_Linguistics_SHAAN_20NOV_51_Shift2]
1.1

[Option ID = 22720]
2. 2

[Option ID = 22721]
3.3

[Option ID = 22722]
4, 4

[Option ID = 22723]
78) Statement | : A binding is a relation in which the antecedent is in an A-position (Agreement Position).
Statement Il ; A-Bar binding is a relation in which the antecedent is in an A-bar position(non-argument position},

In the light of the above statements, Choose the correct answer from the options given below:

(1) Both Statement | and Statement Il are true

(2) Both Statement | and Statement |l are false

(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

=i € oM feuma &

FYA1:  u-anEfen te gey 2 fred gdue v—-difsrem o wm R (g )

FYAIL:  U-R U HaY B T qEe u-sw aifeeE | g g (- )

IR Fed & AT H, 1 e faeredi 1 9 ad = =26 FiNg
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(1) A IRl aea g
(2) e I AR ILTE] 319 &
3 FHEITAE, AFAFII AT

(4 Ty I 3vEd 2, Al wea I Ee 2

[Question ID = 5819][Question Description = Q78_Linguistics_SHAAN_20NOV_51_Shift2]
1.1

[Option ID = 22724]
2. 2

[Option ID = 22725]
3.3

[Option ID = 22726]
4, 4
[Option ID = 22727]
79) Given below are two statements : one is labelled as Assertion A and the other is labelled as Reasons R.
Assertion (A) : The grammatical relation between the terms must be specified
Reason (R} : The grammatical relations can be specified in a semantically neutral way

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and {R) are correct and (R) is the correct explanation of (A)

(2) Both {(A) and (R) are correct and (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

19 gt wuq fou T §: we sifsed (Assertion A) %Wﬁ%ﬁﬂﬁ%ﬁ@ﬂﬁ&%ﬁw (Reason R) & ¥
f_f.

1

Frfishad (A) ; vei o s Jareires gew fvad e @ faffée g wfag

F1 (R) : Favefurs gaw seffe & oy fafl 3 faffds e snasa )
IULih e & sTTets H, i feu e faenedi § @ v suge s 997 Aifee

1) (A AR R) TH G 3 3 (R), (A) it 6 e 3
(2) (A 3 (R) THI B 8, | R), (A) ) wi =1 F6 2
3 (AT E, A R) 9 T 2

@4 Q@uEFHER IR D

[Question ID = 5820][Question Description = Q79_Linguistics_SHAAM_20NQOV_S51_Shift2]
1.

[Option ID = 22728
i

[Option ID = 22729]
3.3

[Option ID = 22730]
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[Option ID = 22731]
80) Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion (A) : A typical dictionary definition of metaphor is “the use of word or phrase to mean something different from
the literal meaning.

Reason (R) : Lakoff has argued metaphor is all pervasive in language and so it deserves more constructive consideration,
In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both {A) and (R} are correct and (R) is the correct explanation of (A}

(2) Both (A) and (R) are correct and (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

= 21 =A fqu a8 v AU (Assertion A) % %9 H foified 2 o1 390 39 FHU (Reason R) # ¥

4.

TNERYA (A) : e o Tt weewmim giemn 2 ‘wifsss 1Y 8 Tor 319 & fou weag W wse |
peii

I (R) : I = 9 2 TR wek ey F wEerd) @ @i guier 3 W ST W=Eens 'Y 4 fa=m R
A ) STEvdHdl 2

TYUH FHUR & ATeNe 1, 9 oo e faeedt i 8 wed I 99 fifse

D) (A R @®) 3 TE E AR (R), (A) FHE =" 2
2) (A I (®) eHI w2 E, A ®), (A) U =men T8 8
(3 (AW, AR R)Ud 7 3

@ (A g 3, <o R) w3
[Question ID = 5821][Question Description = Q80_Linguistics_SHAAN_20NOV_51_Shift2]
1. 1

[Option ID = 22732]
2, 2

[Option ID = 22733]
3.3

[Option 1D = 22734]
4, 4

[Option ID = 22735]

81) Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R,

Assertion (A) : Borrowed words are usually remodelled to fit the phonological and morphological structure of the borrowing
language.

Reason (R) : The strongest evidence for loan word identification and the direction of borrowing comes from phonological
criteria.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both (A) and (R} are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
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(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

1 21 %A foU T B: U ANTHUS (Assertion A) o ¥4 ¥ fid 8 1 381 3% FRW (Reason R) ¥ &0

-

1

Frfamed (A) JNF TS <h TR ST Sufsrareas B H TaEsE & [0 ST wsel S qrarad:

g ot Sl 3

FRO (R) MG ¥R U9 IR W i BT % e ggau wea @i wreei 8 g

3l

ST A o AT o, T fag e faeredi 9 & wad 3ugw Fw @ 9ae Hifs

(1)
@)
(3)

4

(A) 3R (R) SH1 T3 3 3R (R), (A) Tl 921 sar6al 3

(A) 3R (R) H1 &= 8, wifena (R), (A) ) 6e) =316 74
(A) ¥l B, il (R) ot T 8

Q) T 7 2, <iferd (R) w1 8

[Question ID = 5822][Question Description = Q81_Linguistics_SHAAM_20NQOV_S1_Shift2]

ti:

[Option ID = 22736]

2. 2

[Option ID = 22737]

3. 3

[Option ID = 22738]

4. 4

[Option ID = 22739]

82)

(Given below are two statements :

Statement | : Aptitude is essentially composed of three main abilities (i) phonetic coding ability (ii) language analytic
ability, and (iii) memory ability

Statement Il : Language analytic ability includes “grammatical sensitivity” and “inductive language learning”!
In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both Statement | and Statement |l are correct

(2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct

= 21 FeA R e &

FaAl:  ame afvgma % o e afaed e g

() Tl gem wmed, (i) v faversomeres e TR (i) wofa wmed

FAIL: T faveNTe gl i ST gagarsieal’ IR S sy At giifem )

3UUTh heH o stretieh 0, = fou o faweai § 4w sav w9 fifsa
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FoA I i II e udi 2

e I S I €M1 g 2
Fua 19 3, Sfe e 11 e 2

FyA I e B, A e 119 2

[Question ID = 5823][Question Description = Q82_Linguistics_SHAAN_20NOV_51_Shift2]

6 (0

[Option 1D = 22740]

L

[Option ID = 22741]

3. 3

[Option 1D = 22742)]

4. 4

[Option ID = 22743]

83)

Given below are two statements :

Statement | : Comprehensive language documentation includes an outline of the sociolinguistic context in which a
given language is used, as well as audio {and if possible, video) recordings of a wide range of different language
genres and domains of usage

Statement Il : Language documentation differs from traditional linguistic discriptions which have focused almost
exlusively on the grammatical and lexical aspects of a language, and paid little attention to patterns of sociolinguistic
variation

In the light of the above statements, Choose the correct answer from the options given below

(1) Both Statement | and Statement |l are true

(2) Both Statement | and Statement Il are false

(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

F= Sy feom 2:

FUTL:  SATYeh U1 TedrasiiE § qurst g dsniies ged i watan wfaa 2 fred d g ar o fafim

1T ST SR A o & 3R Sife i (st ate ave g1, 1 <fifeat) = s forg s 2

wUAF II: A9 BT Yo wifver faaon | firg 2 S om 199§ W 9T o ST #i

FIIFE-TTA A T Hfzd 2 ST ore st yrerias fermror 3 U o sreq e 40 70 8

I e[ < AT H, 1= Teu 7 fawegl 1 9 9 e 999 il ;

(1)
2)
(3)
)

FHeA 1 3R 1 2F1 9 &
e[ I 3 11241 /e &
e[ 10ey 2, AR wed 11 3783 2

FYA [ 319 3, i T [1 5 2

[Question ID = 5824][Question Description = Q83_Linguistics_SHAAN_20NOV_S51_Shift2]

1.1

[Option ID = 22744]

2. 2

[Option ID = 22745]
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[Option ID = 22746]
4. 4

[Option ID = 22747]
84) Given below are two statements :
Statement | : Almost all Indian languages which have SQV as basic word order have post-positions.
Statement |l : Persian, a language with 50V as basic word order, has pre-position.
In the light of the above statements, Choose the most appropriate statement answer from the options given below :

(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement 1l is incorrect

(4) Statement | is incorrect but Statement Il is correct

A @ e[ feg o &

FAAl: @ v qwal § fiferer wes-3 SOV e 7, 3T e afi § ot gid €
s Il: B A, S SOV T ifers wea-wa it 9 B, gda 3 2

I YA o ATEARR A, AT Tou e Toredi 1 9 9o 3UgeH IR & 939 FIR ;

(1)  FAIARIIEH A
(2)  FeR ISR IIEH oA 8
B FRITH L AFTHE I 2

(4 FRITHAR, A FR O UE 2

[Question ID = 5825][Question Description = Q84_Linguistics_SHAAN_20NOV_51_5hift2]
1.1

[Option ID = 22748]
2. 2

[Option ID = 22749]
3 3

[Option ID = 22750]
4. 4

[Option ID = 22751]
85) Given below are two statements :

Statement | : Total loss of communication ability due to injury to certain parts of the brain is referred to as Global
Aphasia,

Statement Il : Childhood aphasia can occur as a developmental disorder without any injury to the brain.
In the light of the above statements, Choose the most appropriate statement answer from the options given below :

(1) Both Statement | and Statement |l are correct

(2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement 1l is incorrect

(4) Statement | is incorrect but Statement Il is correct
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4 g1 oo fenme &

FUA1:  Aftesn & 5o owd U =02 &SR0 e ST S i 31 Sl @l ST e S 2|
FUT IT:  mifedees O T foredt e o forenmnma € o w9 o sem= o arwrera (ST ) €1 g B
I A o e 1, i e e faeredi 1 @ 99 3ugwh I et 95 Hifer :

(1)  FHeE ISR IS w2
(2) YA ISR IIEE Terd 2
(8) w1 UL 3, AR A I Toid 2

(4) FH IR, A FE TR 2

[Question ID = 5826][Question Description = Q85_Linguistics_SHAAN_20NOV_51_5hift2]
1.1

[Option ID = 22752]
2. 2

[Option ID = 22753)
£

[Option ID = 22754]
4, 4

[Option ID = 22755]

86) Given below are two Statments :

Statement | : Phonic substance refers to speech seen as a set of physically definable articulatory, acoustic, auditory
properties.

Statement Il : Phonic substance caustitutes an empirical datum to which theories of language must ultimately relate.
In the light of the above statements, Choose the correct answer from the options given below:

(1) Both Statement | and Statement Il are true

(2) Both Statement | and Statement Il are false

(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement 1l is true

=t Eﬁ%ﬁﬂﬁmﬁf{%:

FoI: Wi uca w e 2 o o s w9 9 ofarss sEremers e s geeer @0
AfSTereon % ¥4 W @ a2

FA 1L &k weE H gafaes snur sl gl @ e stadirean am fagrdl =1 Aava waftia S
=ifsul

I e[ & AT H, 7= feu e fawegi 1 498 ST =2[ il ;

(1) wERIARIISHI g2
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(2)  wed ISR IS 9@ #
(3) U 14 2, Al v II s15eq 2

(4) w9 I IEA 2, ifora e [I wea 2

[Question ID = 5827][Question Description = Q86_Linguistics_SHAAN_20NOV_S51_Shift2]
1. 1

[Option ID = 22756]
7.3

[Option ID = 22757)
3.3

[Option ID = 22758]
4, 4

[Option ID = 22759]
87) Given below are two statements :

Statement | : A phoneme is the basic form of a sound as sensed mentally rather than spoken or heard.

Statment Il ; Each phoneme- a mental abstraction in itself- is mainfested aurally by one or more sounds, called allophones,
which are perceivable sounds corresponding to the phoneme in various environments.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct

(2) Both Statement | and 5tatement Il are incorrect

(3) Statement | is correct but Statement |l is incorrect

(4) Statement | is incorrect but Statement Il is correct
A koA fawme 3
FAl:  wafmEa % gw w0 E IR dem g A e afees w9 8 e e s 2

FUAIl:  Sede WY 3109 219§ e WiiHE g v a1 Al i Fw1wiiie vawed g 2 ford 3wam
S & A Tt wfeen o wf-m w1 e W g g

3T YA o sTen W, et foe me fasedi 1 @ wed 3ugw I = il

(1) FEIFAISH
(2)  wyq I3 I SN Terd &
(3)  wu I4dl 3, SR wem IL7RT 3

4  FRITEREE, A T I 9d R

[Question ID = 5828][Question Description = Q87 _Linguistics_SHAAM_20NQOV_S1_Shift2]
11

[Option ID = 22760]
P

[Option ID = 22761]
3.3

[Option ID = 22762]
4. 4

[Option ID = 22763]
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Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion (A) : Lexical phonology accounts for alternations such as that of [t] and [s] in the words President (prezidont)
and Presidency [prezidensi] respectively.

Reason (R) : Changes such as that between [t] and [th] as in the words photograph [fowtdgraf] and photographer
[(foth > grofor)] respectively are viewed as post-lexical or as applying outside the lexicon.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R} is the correct explanation of (A)

(2) Both (A} and (R) are true and (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is not false
(4) (A) is false but (R) is true

et 2t o fou B ww AR (Assertion A) % ®9 1 foifiad 8 o 39U 39 %R0 (Reason R) & ¥

4-

TR (A) : I |WAAETA ¥ 39 YHH % A Bid 3, 919 President (prezid 4 nt) 3R

Presidency (prezidensi) Tl T FA9 (£) 3N (3)

ERUNIE Photograph (fowt o graf) 3T Photographer (fothOgrad for) S8 wTeE A9 (E)

F (th) o TiEel o) IT-FHA 12a7 Yeqah1 o ASUH] STTTT I THT ST 3

3T #heH o ATedrs 4, J1= feu T fasedi 0 9 ol 39t 1 93A Fifvu

1)
@)
(3
@

(A) 3 (R) 2H1 U1 3 311 (R), (A) 1w =aren 2

(A) 3R (R) 2H1 ¥ca 3, eiferd (R), (A) 1 Bt svea = @
(A) TR, A (R) s 1

(A) T 781 3, Wk (R) & 3

[Question ID = 5829][Question Description = Q88_Linguistics_SHAAN_20NOV_51_5hift2]

1.1

[Option ID = 22764]

2. 2

[Option ID = 22765]

Jvd

[Option 1D = 22766]

4. 4

[Option ID = 22767]

89)

(Give below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion (A) : Source filter theory/model is an acoustic model of speech production.

Reason (R) : Source refers to the waveform of vibrating vocal cards, whereas the oral chamber is the resonance
filter,

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and {R) are true and (R) is the correct explanation of (A)
(2) Both (A} and (R) are true and (R) is NOT the correct explanation of {A)

(3) (A) is true but (R) is false
(4) (A) is false but (R) is true
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= 31 e fog e F: v e (Assertion A) % w9 1 fiftaq @ @1 380 3% FH0 (Reason R) & &9
u;

AfiRaE (A) - i -37ge Tagia /d1ea SR &1 U s 9ea 2

F (R) : e 1 1 2 Fueiie TarE 510 300 a0, St 1@ iR SR ¥ gerre 2
2

IUUT A % arenss W, T fre e fasredi 4 9 ud s ==m fifse

(1) (A) 3 (R) aH T £ 3R (R), (A) i o) srem 2
(2)  (A) 3N (R) TET O &, i (R), (A) it & suren 78 2
3) (A g, afF ®) g™ T2

@ (A TETE R, df R) T 3

[Question ID = 5830][Question Description = Q89_Linguistics_SHAAN_20NOV_51_Shift2]
g st

[Option ID = 22768]
7.2

[Option ID = 22769]
3.3

[Option ID = 22770]
4, 4

[Option ID = 22771]

90) Given below are two statements :

Statement | : Although the Kolhapur corpus of Indian English was initially planned to make it maximally comparable to
the Brown Corpus and the LOB Corpus, there were some deviations in the Kolhapur Corpus from these two Corpora due
to some practical problems

Statement |l : One deviation of Kolhapur Corpus from the Brown and LOB Corpus was synchroncity, the Brown Corpus
and the LOB Corpus stored texts published in 1961, the Kolhapur Corpus stored samples of English texts published later
in 1978

In the light of the above Statements, Choose the most appropriate answer from the optiens given below

(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct

A7 & oM feu e 2

FEI: Tl e srfow & FeR wE i yihins AsE a8 oft T 38 srfrnrfie s Shvde s wE
37 o Fda % A s s, B ofl $3 saamies wieredi & wR F 9 SRTE A wieegy
i 4 %3 e gl

FAAIL: T3 SR UHA 3 5 FIH Pl HI9Y H1 U fo=eq geashifctardl 2 9134 Hdy 3K ud o &6
199 HSIE 18 1961 U YRR 31, el 1Ud Ak 2 013 % 9 9/e 0 1978 A
THITER B
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IGUh e o 2T o, 1= e e faeredi 1 @ gel 3ugw: I e w91 il

()  FeAIMMIT a2
(2 A I SRIIEH Tera 8
(3  F 1T 3, e A I 7erd 3
(4) A I7Terd 2, AfeRd Fed 11 Ed 2
[Question ID = 5831][Question Description = Q90_Linguistics_SHAAN_20NOV_S1_Shift2]

1. 1

[Option ID = 22772]
2.3

[Option 1D = 22773]
3.3

[Option ID = 22774]
4, 4

[Option ID = 22775]

Topic:- 31Linguistics_B

1) Read the following paragraph carefully and answer the five question that follow :

Adults have metalinguistic knowledge: conscious, analytic, knowledge of their use of language, and often also formal
knowledge of the terminology of grammar. This gives them the means to learn in conscious and analytic ways seemingly
quite different from those of children. They are also able, to some extent, to monitor their speech-comparing their
utterances with their conscious knowledge, and correcting accordingly. The learning style of children is more intuitive and,
it is reasonable to say, more ‘natural’.

The different learning styles of adults and children have been distinguished as ‘learning’ and ‘acquisition’, The conscious
and analytical approach of adults has been termed language learning, and the unconscious and spontanecus approach of
children language acquisition.

Some language teachers doubt whether adults, in speaking, can actually apply such rules as (for English speakers learning
Spanish) ‘The allophone of/d/ after vowel is [d] or even ‘use a with human direct objects’. But learning such rules and using
them in doing classroom practice and homework may be useful as a way to obtain experience with the language, and
practice which child learners obtain naturally.

Tt Trerion 1 s OTET ofR TOR SATETRE WAt o IR T < (91-95)

TR T TE TOANSE T B To0d, [HveNOnoRsE, ST NI % WM W W oK W SRl
IS W ST T SEW 3 uad iR fOveoTor® @ W TR |reE Wi Zh 2 S w=
dEn % @1 4 faoga o We B 21 3, T9 %S T%, I a1 SENEAV- I THed TH ST

SR i g B R TEIER GUR 4 9 off 7 B2 E, s o o dielt S weEeeiy oo B
2 3R 30 @a® T THET 2

TACH AT FEl H 5 T Seh B orftrm’ ok simm % w9 § ol T T 2| 9Ees & "edd
AR TErmeToTTens SIFE B aT A SR = 5 SR TR T U i T SR T 3
T 9T T 3a8 T T id 3 3 9 dieid omg o=es v et (SR das et smsh ard) @
SN L GHd 2 WE @R h 98 A1 [0] UL F TN T 2, W9E| WHAG 3% P F 1Y a H
TP B 2| AR U ey e o e STerd S M R ¥ SR ST WiE SN T e
AR 5 o= Tifes &9 O S100e 9 ofd 2 = e 39=ift 2f 9ehar 2

In the passage, the term ‘Intuitive has been associated with learning/acquisition of
(1) Children

(2) Adults

(3) Both adults and children

{4) Sometimes adults and sometimes children

TN Y ‘TeSad T Ue i Thus S1fErm/ s1ug @ gefed s 7 27

1 ¥4
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[Question ID = 5832][Question Description = Q91_Linguistics_SHAAN_20NOV_51_5hift2]
1.1

[Option ID = 22776]
2. 2

[Option 1D = 22777]
3 3

[Option ID = 22778]
4. 4

[Option ID = 22779]

2) Read the following paragraph carefully and answer the five guestion that follow :

Adults have metalinguistic knowledge: conscious, analytic, knowledge of their use of language, and often also formal
knowledge of the terminology of grammar. This gives them the means to learn in conscious and analytic ways seemingly
quite different from those of children. They are also able, to some extent, to monitor their speech-comparing their
utterances with their conscious knowledge, and correcting accordingly. The learning style of children is more intuitive and,
it is reasonable to say, more ‘natural’.

The different learning styles of adults and children have been distinguished as ‘learning’ and ‘acquisition’, The conscious
and analytical approach of adults has been termed language learning, and the unconscious and spontanecus approach of
children language acquisition.

Some language teachers doubt whether adults, in speaking, can actually apply such rules as (for English speakers learning
Spanish) ‘The allophone of/d/ after vowel is [8] or even ‘use a with human direct objects’. But learning such rules and using
them in doing classroom practice and homework may be useful as a way to obtain experience with the language, and
practice which child learners obtain naturally.

Terettrfiam wrerion ot s OTET ofRT TOR SATETRE WA o IR T < (91-95)

TACH B TF TOHTSE BT 5 Taod, [aveimueTsd, ST N SRR W S TR W SATEel
TerEell BT ST S| SEH 38 Tee SR e onens @ @ oifrm wrem g g & S s
He & 31 ¥ faoga o TG BT 21 A, T 73 9, OTH TG STAAC- ST TG FH W STH
ST gEr B SR TegER R T A off o wd €, = i otform el s wEwey W ad
2 3R U ‘WS R ahaT 2|

amEH AR = 1 S saftery 9l 9 ‘orfiem’ ol fstwEw’ % =9 8 ofR e T 2 9uesl % Head
3R TErmieToTTen= SIF B 9T A SR S 5 SR 3R T U i M SR HE T 3
F3 9T e T Uor = i & 6 o aferd un 9 vy et (Vi dias are el ard) @
FATAT H FHd 3 el @R H oG A [0] ITEEF B FAN AT 8, HUAT) AGE % P B D19 a b
TR w3 e T e @ e o s srer IR e e W SR T Wi oy i e
¥ e o= Tl w0 ¥ aftmen a4 ¢ % e Iumelt o1 wewar 2|

In the passage, the author feels that learning rules
(1) May be useful for adults

(2) May be useful for children

(3) May be useful for both adults and children

(4) May not be useful for both adults and children

TR ¥ TR o FTUR AT % Frm

(1) PRl o 9 39Tl 2 Ud 2
(2) @i ok foru 3uaRfl € wWeRd €
(3) T SR Tl Hi F fow 3garfi 3 uwa 8

£AN 2 't B 3 7 e o B e e e e a2 e s 008 B =3 Bt i v
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[Question ID = 5833][Question Description = Q92_Linguistics_SHAAN_20NOV_51_5hift2]
1.1

[Option ID = 22780]
2. 2

[Option ID = 22781]
2

[Option ID = 22782]
4. 4

[Option ID = 22783)

3) Read the following paragraph carefully and answer the five question that follow :

Adults have metalinguistic knowledge: conscious, analytic, knowledge of their use of language, and often also formal
knowledge of the terminology of grammar. This gives them the means to learn in conscious and analytic ways seemingly
quite different from those of children. They are also able, to some extent, to monitor their speech-comparing their
utterances with their conscious knowledge, and correcting accordingly. The learning style of children is more intuitive and,
it is reasonable to say, more ‘natural’.

The different learning styles of adults and children have been distinguished as ‘learning’ and ‘acquisition’, The conscious
and analytical approach of adults has been termed language learning, and the unconscious and spontanecus approach of
children language acquisition,

Some language teachers doubt whether adults, in speaking, can actually apply such rules as (for English speakers learning
Spanish) ‘The allophone of/d/ after vowel is [d] or even ‘use a with human direct objects’. But learning such rules and using
them in doing classroom practice and homework may be useful as a way to obtain experience with the language, and
practice which child learners obtain naturally.

Given below are two statements :

Tormttriian Trerion ot s STRT oTR SOR SATATRE WAl o IR i < (91-95)

TR B TE TS o B TEaA, TAvesuens, o101 NI % VAP W W 30N U SHTEr
wagTaeA] 1 SNTNiE T T I THa i favewonens @1 @ wiftem are ww g @ S 9= ok
T & 21 ¥ faepa wem udia S 2) 9, 33 78 96, I aih IHHAU- I TG FF ° I
ST 6 geFT B 3T qeqEr gun B 0 o gadl 2ie €, s= B aiftem det sne geeeig up vt
2 31t 3 T e ahaTa ol
Few AR a= B i ot Ao § ‘artem’ ot “snwew’ % w9 9 o fe T 2| Sl % e
AR TereieAores 3UPT i Wl AT SR 9= % Jread TR TEa-TEd SUPTH F WTT SR et T 2
T3 W e s Tan oA R 8 % w1 Ao oy aeres vl Pl (Sfm drad e oueh wh) W
ST T THA B e TR H WG A [6] I F TA BN 2, UG WHA IF FA B O a H
s g 21 SR T Femt w5 diemn ot wman oA 3R g R H o e Wil S S %
iR TorrhT ==y T B9 O Afme R o £ % forg suErelt 21 w2
Statement | : In the passage the author feels that both adults and children acquire/ learn language the same way
Statement Il ; According to the passage ‘Acquisition’ is the learning style of children
In the light of the above statements, Choose the most appropriate answer from the options given below:
(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct

= 21 %A feu e 3

FAAL: TR OREE oF STJUT SR SR = a1 Ueh § WL | 99T Rl AT /SR U E YRR Y
Eockd

FAAIL: TS o ATAR AR = i Alem Hedi 21
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(1)  F ISR IIEA 6 3
(2) w99 I SIS T4 8
(3 #1612, ARFI A 1171 8
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[Question ID = 5834][Question Description = Q93_Linguistics_SHAAN_20NOV_51_5hift2]
1.1

[Option ID = 22784]
2. 2

[Option ID = 22785
3 3

[Option ID = 22786]
4. 4

[Option ID = 22787]

4) Read the following paragraph carefully and answer the five question that follow :

Adults have metalinguistic knowledge: conscious, analytic, knowledge of their use of language, and often also formal
knowledge of the terminology of grammar. This gives them the means to learn in conscious and analytic ways seemingly
quite different from those of children. They are also able, to some extent, to monitor their speech-comparing their
utterances with their conscious knowledge, and correcting accordingly. The learning style of children is more intuitive and,
it is reasonable to say, more ‘natural’.

The different learning styles of adults and children have been distinguished as ‘learning’ and ‘acquisition’, The conscious
and analytical approach of adults has been termed language learning, and the unconscious and spontanecus approach of
children language acquisition.

Some language teachers doubt whether adults, in speaking, can actually apply such rules as (for English speakers learning
Spanish) ‘The allophone of/d/ after vowel is [8] or even ‘use a with human direct objects’. But learning such rules and using
them in doing classroom practice and homework may be useful as a way to obtain experience with the language, and
practice which child learners obtain naturally.

Frforiiom e @ o wien STt SR ST oA 3 SR Ff ¢ (91-95)

TR B TE TS T B TEdA, TOvONOIeRs, ST0H1 WIT % TEPT W W 30N U ST
vregraelt w1 IieE | SaU I TeEd ot fayeuoners @ @ siltem wryE uw g § S 9= ok
HEs & g1 ¥ faega der Ui BT 21 9, 9 78 96, A a9 IEHAV- F9H Teed [ " IH
ST i ger e 3T qegun gur e 4 o w2 E, w= B srftem defl s geeeis o wid

2 3 30 “wnnfas’ e TeRaT 2|

TR 3 = i i il el | ferftem’ st “ammewr’ w9 o st fen T 2) el & gead

R fergieorenes 3qr™ ! W AR SR a=1 % A= 3R A TFd ST i 9T STET hEl T 3

F3 AW EE AN T3 =A% L 7 19 9 sied Tng 99% vy Femi (St e e sl a6
I T THA 2 WG TR B ARG A [0] ITEH T AN B 2, YA HEE SF A H AT a H
TP B 2| SR T ey w6 O o e STed ST M wE W S ST W SN ST

A TR o= e =9 O siftmee 3 o 2 o T suenft g aeear 2

Given below are two statements:

Statement I; All Adults always have a conscious knowledge of their language and they also always have a strong grasp of
formal grammar of the language they are learning.

Statement II: Children as well as adults have a conscious and spontaneous approach to language acquisition.
In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement | and Statement Il are correct (2} Both Statement | and Statement |l are incorrect
(3) Statement | is correct but Statement Il is incorrect (4) Statement | is incorrect but Statement 1l is correct

IR € we[ feu o &

FoI:  udf IEE F w9 G O T gE9ad T B 2 oI Wi ST el v 3 e S
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FAFIL:  FA S TTER] GHT T A1 WY ok Wi V=i 3 T84 TFd I9TH Tl 8
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(1)  FA IR IS i d
2  FA IR I e @
(3)  FUA 1WA 2, Al a1 7rd 8
()  FA I[7Ad g, AR HeA I1HH 3

[Question ID = 5835][Question Description = Q94_Linguistics_ SHAAN_20NOQV_51_Shift2]
1. 1 [Option ID = 22788]
2. 2 [Option ID = 22789]
3. 3 [Option ID = 22790]
4. 4 [Option ID = 22791]

%) Read the following paragraph carefully and answer the five question that follow :

Adults have metalinguistic knowledge: conscious, analytic, knowledge of their use of language, and often also formal
knowledge of the terminology of grammar, This gives them the means to learn in conscious and analytic ways seemingly
quite different from those of children. They are also able, to some extent, to monitor their speech-comparing their
utterances with their conscious knowledge, and correcting accordingly. The learning style of children is more intuitive and,
it is reasonable to say, more ‘natural’.

The different learning styles of adults and children have been distinguished as ‘learning’ and ‘acquisition’. The conscious
and analytical approach of adults has been termed language learning, and the unconscious and spontaneous approach of
children language acquisition.

Some language teachers doubt whether adults, in speaking, can actually apply such rules as (for English speakers learning
Spanish) ‘The allophone of/d/ after vowel is [8] or even ‘use a with human direct objects’. But learning such rules and using
them in doing classroom practice and homework may be useful as a way to obtain experience with the language, and
practice which child learners obtain naturally.

Torettriiam Trerion o6t s OTRT oTR SOR SATATRE WAl o IR AT < (91-95)

TR B OTE OIS o B TEdA, TOvemuiiens, o101 WI % VAP W W 30N WL STl W
yeEEEl B TR AH| 39 I O S faveonerss @ 4 wiem grya Wi a2 A 9= W
dg & &1 ¥ fega 9o WE T 2 F, $B 53 9%, I arh IEAAU- o TR IH ¥ I
ST i gerl e 3T degan gur e 4 i w29 E, w= B srftrm defl s geeeie ok wid
2 3t 3 ‘wfers EAr qehETd 2

TR 2wl S fE it el 1 ‘erftem’ o “ommewr’ % w9 o o e T 2) Sl % gead
AR frderyorens 39rm Bl 9T AR SR g5 % A= 3R Wa-TFd SUPTH Sl WTaT THE e T 3
F3 AW EE @Y Tag A% L 7 196 9 sied Tng 99%h vy temi (S ded e sl aid)
ST W GHd 2 E TR B A A [0] IS FOTAN BN 2, UG WEA % FA B A a
TP B 2| SR T ey w5 e o wan STed ST M T W ST ST W SN T
AR T o= T B9 ¥ S1RmeT 9 &d 2 = fore suanft g ge6ar 2

According to the passage, adults

(A) have-knowledge which is metalinguistic

(B) are able to monitor their speech, to some extent

(C) have a ‘natural’ learning style

(D) are analytical in their approach to learning a language

Choose the most appropriate answer from the options given below:

(1) {A) and (B) only (2) (A}, (B) and (C) only
(3) (B} and (C) only (4) (A),(B) and (D) only

TS & STPER, T

(A) TN FE e B
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(B) T332 TF AT IRk F IFALHFV F TH &
(©) ‘waraifas’ sfirm def wa 2

(D)  fFE qmr R s % ufd oA 3arm E favemones g 2

e fen o foreredl d & wed 3ugwh ST 984 i
(1) e (A) IR (B)

(2) & (A), (B) I (C)

(3  =d (B) 3 (C)

4  FFE A, B) AN D)

[Question ID = 5836][Question Description = Q95_Linguistics_SHAAN_20NOV_51_Shift2]
1. 1 [Optien ID = 22792]
2. 2 [Optien ID = 22793]
3. 3 [Option ID = 22794]
4. 4 [Option ID = 22795]

Topic:- 31Linguistics_C

1) Read the following paragraph carefully and answer the five question that follow:

Earlier, we focused on the " scientific' analysis of linguistic meaning, particularly in relation to translation equivalence at the
level of individual words and phrases. In this unit, we continue the discussion of equivalence but widen the focus on
meaning and define it in terms of broader contextual categories such as culture and audience in both ST and TT.
Specifically, we will deal with the process of translation, the problems of establishing equivalent effect in translation and
how this factor, which draws heavily on context, affects meaning and determines the choice of translation method.

We also argued that to insist on full translatability across languages and cultures is to risk being incomprehensible (i.e.
producing TTs that are confusing at best), Similarly, to insist on full comprehensibility in translation is to perpetuate the
myth that there is no real difference between translation and other forms of communication. A more reasonable position to
take is perhaps to see translatability and comprehensibility in relative terms. These two principles are not always in conflict,
constantly pulling in opposite directions. In practice, an important assumption which translators entertain seems to be one
epitomized by something. Nida said many years ago, echoing Jakobson {1959): ‘Anything which can be said in one language
can be said in another, unless the form is an essential element of the message’ (Nida and Taber 1969:4),

Frertortm T @ s Wi SR IOR SATLT WU 36 SR A ¢ (96-100)

Tgel BAA Wi 1M % Ayieee fGvea W S higd TR, fsiven g A ugey famm % ' W
FaTe TAdeAdl % 69 H| 3@ TRE o 79 WAgeddl T 99l I TFd & W AY W SAhgU H1 R
2 ST ST a TT 3 o w&nid @ 2ifar S ==ros ded ®ifea % w9 4 98 gientya =< 3| foma: = ==
a1 w0 AR F ufen A, srar d aaged xaE enfia A F wmena A, ot sa e f e e
et 77w HU o 6t wfaa wwear 2 3R e Tt % = i feife s 2)

T 39 W off wzw i 5w W 3R wrefd @ gl o ol orgmer W Al SR T ¥ srAaerera
e @ (A uE TT i e 6 578 59 9 & 98 ohd 31) St i s1ane 8 9ol Sasiear W
SR 3 W T ST B U2 T fF oag o TN 6 3 WU W WIS areia® S TE 2| o1
ThET B 6 T St sEETor F AvEa: W g ¥ dEn wel T A 2 R gt § e fawe
Rufs Tt 2, <t R oF <@t i faadia e # 9 wd 31 sxeefes 9w sEaes o ad Teeg
FroR 1 7S # Frae aREdT 9 58 vHR 2) ¢ aul ure A (1959) H afeafE w@ g
T A AE, AR w9 Pl dew W e q@ T w, @ o 39 i ©F ww § w5 wha 3 59 gEd

W § ff o I WA 3 (ST 31 T 1969:4))

In the passage, the author plans to continue the discourse on equivalence and defining it in terms of
(1) Culture and material in 5T (2) Material in TT
(3) Both culture and material in ST and TT (4) Both culture and audience in STand TT

e H whgedd W wE T wEd 30 T 39 TR v bt e wea 27
(1) ST uHia iR reh (2) TTHumid
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[Question ID = 5837][Question Description = Q96_Linguistics_SHAAN_20NOV_51_5Shift2]
1. 1 [Option ID = 22796]
2. 2 [Option ID = 22797]
3. 3 [Option ID = 22798]
4, 4 [Option ID = 22799]

2) Read the following paragraph carefully and answer the five question that follow:

Earlier, we focused on the ’scientific' analysis of linguistic meaning, particularly in relation to translation equivalence at the
level of individual words and phrases. In this unit, we continue the discussion of equivalence but widen the focus on
meaning and define it in terms of broader contextual categories such as culture and audience in both ST and TT.
Specifically, we will deal with the process of translation, the problems of establishing equivalent effect in translation and
how this factor, which draws heavily on context, affects meaning and determines the choice of translation method.

We also argued that to insist on full translatability across languages and cultures is to risk being incomprehensible (i.e.
producing TTs that are confusing at best). Similarly, to insist on full comprehensibility in translation is to perpetuate the
myth that there is no real difference between translation and other forms of communication. A more reasonable position to
take is perhaps to see translatability and comprehensibility in relative terms. These two principles are not always in conflict,
constantly pulling in opposite directions. In practice, an important assumption which translators entertain seems to be one
epitomized by something. Nida said many years ago, echoing Jakobson (1959); ‘Anything which can be said in one language
can be said in another, unless the form is an essential element of the message’ (Nida and Taber 1969:4).

TrToTiom Ty W ST Tihen SR SHOR ATHTR WUl 3 SR AT ¢ (96-100)

uEe T O 9 ¥ Amie e m o $ie fE, Reves e ot weay e R ' W
ITIATE FAgeAdl & TEY U| T8 0E § 26 Tgeddl W T AR WWd & W A9 W SFFHg B AR
2 ot ST TT 1 o vegfa @ A e =mus gl iRt = w9 4 38 ufowfie =a 31 fama: o0 7
ST Bl A Y A R, AR | wnged W wiia e ki aeena A, i sw foea fi e ged
T TR 72 FE FH 318 T T9Tiaa e 2 SR oTae iy % = A it w2

7 3@ W ot w5w H R UE W IR TR W @i § Ol STE W TR SR o @ STEeieaan i
e 3 (FFT W TT & WA F0 9% 50 9T 5 %8 94 a|) IHT TR ST H YU STaeieaar W
N A W T e B w5 s il gunn % 3= vl 0 g anEfas it @ 21 sites
T BT 136 ST STR STaaisaa =i Ayaa: Hue g2 o <% S v @i 2 B gFi 9 gven e
ey et 2, 391 o AR o g At e 3§ S w2 ) e 9 W AT U ol gacagul
HAURUT Bl A § TR AREET FE 59 YHR 2] e ant use Feemd (1959) # wiieat| e 5
a1EeT | ww, aft w0 el wiw st e A @, @ o o ff wF ww F FE o & w9 gEd
9T § ff T W WA 3 (ST 31 e 1969:4))
The passage points to an earlier analysis in relation to equivalence at:
(A) lexical level
(B) phrasal level
(C) sentential level
(D) discourse level
Choose the most appropriate answer from the options given below

(1) (A) and (B) only (2) {B) and {C) only
(3) (C) and (D) only (4) (A) and (D) only

RIS H gugead W Heied yget fe e et <6 == 1 fore v o zifaa foran man 37

(A)  Infeas W
(B) USHY &
(C) IHER
(D) ith &K

el feu 7o fashed| H @ w=d IugE I w24 Hifsm;

(1) %I (A) AN (B)

2 e (B) ()

(3) e (C) I (D)

(4)  FEd (A) IR D)
[Question ID = 5838][Question Description = Q97_Linguistics_SHAAN_20NOV_51_Shift2]
1. 1 [Option ID = 22800]

2. 2 [Option ID = 22801]
| 3. 3 [Option ID = 22802]
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| 4. 4 [Option ID = 22803]

3) Read the following paragraph carefully and answer the five question that follow:

Earlier, we focused on the ’scientific' analysis of linguistic meaning, particularly in relation to translation equivalence at the
level of individual words and phrases. In this unit, we continue the discussion of equivalence but widen the focus on
meaning and define it in terms of broader contextual categories such as culture and audience in both ST and TT.
Specifically, we will deal with the process of translation, the problems of establishing equivalent effect in translation and
how this factor, which draws heavily on context, affects meaning and determines the choice of translation method.

We also argued that to insist on full translatability across languages and cultures is to risk being incomprehensible (i.e.
praducing TTs that are confusing at best). Similarly, to insist on full comprehensibility in translation is to perpetuate the
myth that there is no real difference between translation and other forms of communication. A more reasonable position to
take is perhaps to see translatability and comprehensibility in relative terms. These two principles are not always in conflict,
constantly pulling in opposite directions. In practice, an important assumption which translators entertain seems to be one
epitomized by something. Nida said many years ago, echoing Jakobson (1959): ‘Anything which can be said in one language
can be said in another, unless the form is an essential element of the message’ (Nida and Taber 1969:4).

Trrforiem Ty W AT Wihen SR SR ATUTR WUl 3 SR AT ¢ (96-100)

UEe TR wiftw o ¥ Gt e w o =m $in e, e e oi wgEy fiom o' W
IIATE HAgEAdl & TOY U| T8 ThE U 26 Tgeddl W Tl 9N WA & W A9 W SHHg B AR
2 o ST TT 1 o vefa @ ar e =mus gl iRt = w9 4 38 wfowfie =d 31 fmma: o0 7t
ST 1 A il Ui i, A § anged uwE wnfid e b ggenstt 6, ofit 38 T i fe ged
T AR 77 F0E FH Y T IREE Fa 2 SR ane iy % = i faiia w2

7 3@ W ot wew H R TE W IR TRl W e § YO oA W TS SR o § STEeieaan
e 3 (AT W TT & W F00 9% 59 9T 5 %8 994 a|) IH1 TR ST H YU STasieaar W
IR W T s B 9 e 5 s ok Tuem % o Wi A g anafaes it 98l 2| a1
THET BT 6 ST SR ST w5 Heda: 'Na g & s e 2 R S d e et R
feafy et 2, 21 ormar o g@ A fada o F 91 wd £ sneeits 9w STae® o ael wEeg
SAFUNUT Bt A § O AREET FP 39 YHR 2] WS a9 Ed Fand (1959) i whieata w5
a1EeT | ww, afg w0 feelht wdw w it am A @, @ o T ff o v 7w on & w9 gEd
w4 ff T I WA 2 (ST 31 A 1969:4))

ST in the passage means

(1) Standard text (2) Source text
(3) Specific target (4) Source target

T S ST T avegd 27
(1) HHF 92 (Btandard text) (2) Hid 913 (Bource Text)
(3)  Taf¥me @ (Specific target) (4) ¥WE AL (Source Target)

[Question ID = 5839][Question Description = Q98_Linguistics_SHAAN_20NOV_51_Shift2]
1. 1 [Option 1D = 22804]
2. 2 [Option ID = 22805]
3. 3 [Option ID = 22806]
4. 4 [Option ID = 22807

4) Read the following paragraph carefully and answer the five question that follow:

Earlier, we focused on the "scientific' analysis of linguistic meaning, particularly in relation to translation equivalence at the
level of individual words and phrases. In this unit, we continue the discussion of equivalence but widen the focus on
meaning and define it in terms of broader contextual categories such as culture and audience in both ST and TT.
Specifically, we will deal with the process of translation, the problems of establishing equivalent effect in translation and
how this factor, which draws heavily on context, affects meaning and determines the choice of translation method.

We also argued that to insist on full translatability across languages and cultures is to risk being incomprehensible (i.e.
producing TTs that are confusing at best). Similarly, to insist on full comprehensibility in translation is to perpetuate the
myth that there is no real difference between translation and other forms of communication. A more reasonable position to
take is perhaps to see translatability and comprehensibility in relative terms., These two principles are not always in conflict,
constantly pulling in opposite directions. In practice, an important assumption which translators entertain seems to be one
epitomized by something. Nida said many years ago, echoing Jakobson (1959): ‘Anything which can be said in one language
can be said in another, unless the form is an essential element of the message’ (Nida and Taber 1969:4).

TrTfoTiom Ty W ST Wihen SR SHOR ATHTR WUl 3 SR AT ¢ (96-100)

UEel BEA i oY % Aniae favemw @ om HiEg e, R e ot weay e % ot W
ITATE WAgeAdl & TEY U| T8 $9E 0 26 Tgeddl W Tl 9N W@d & W A9 W SFFHg H AR T

%'n}t:rQTHWH%ﬁH?ﬁ%mm{M%mﬁﬁﬁ%ﬁgl S ?rr':r?"lr'
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R 1 =

S Bl A Y A R, A § wngen W wniia e bl aeena 6, st sw e fi e ged
T AR T8 B FH 9 T T e 2 IR s oty & = w fytia w3

7 3@ W ot w5w H R TE aw oI TR W @ YO STEeT W TR SR o ¥ STEeieaan i
AT 3 (FFT U TT & WA F0 9% 50 W 5 %8 O 3 |) IHT TR ST H YU STEsieaar W
N A W T e B wa e B sreng il gue S 3= vl 0 g anEfas a8 21 sites
THETA BT 6 ST SR ST W e 'ea g & S s G 2 e S wen et R
feufs Tt 2, 391 FTAR o g Rvda B A S WA 2| sEeieh dR W ATaeE T Sg) Kacaq
HTUTOT B AFG & 0 AREAT F9 59 UK ) ®E a9l uzd Fwand (1969) =i ufieata w5
arEet 4 g, ‘At w9 felt wdm w1 e o T @, @ A F9 o6t o W d FE W wwar @ 9 gl
W & ff o I WA 2 (EST 31 e 1969:4))

Accorting to the passage, focusing on full translability may lead to
(1) Better acceptance (2) Wider acceptance
(3) Incomprehensibility (4) Writer’s block

TR o PR YO AR R A1 e A U Fraferfiaa U @ k) gaeen 27
(1)  AEREE 2 e faga Wl

(3)  SHARIEHH] (4) Tged SR

[Question ID = 5840][Question Description = Q99_Linguistics_SHAAM_20NQOV_S51_Shift2]
1. 1 [Option ID = 22808]
2. 2 [Option ID = 22809]
3. 3 [Option ID = 22810]
4, 4 [Option ID = 22811]

5) Read the following paragraph carefully and answer the five question that follow:

Earlier, we focused on the “scientific’ analysis of linguistic meaning, particularly in relation to translation equivalence at the
level of individual words and phrases. In this unit, we continue the discussion of equivalence but widen the focus on
meaning and define it in terms of broader contextual categories such as culture and audience in both ST and TT.
Specifically, we will deal with the process of translation, the problems of establishing equivalent effect in translation and
how this factor, which draws heavily on context, affects meaning and determines the choice of translation method.

We also argued that to insist on full translatability across languages and cultures is to risk being incomprehensible (i.e.
producing TTs that are confusing at best). Similarly, to insist on full comprehensibility in translation is to perpetuate the
myth that there is no real difference between translation and other forms of communication. A more reasonable position to
take is perhaps to see translatability and comprehensibility in relative terms. These two principles are not always in conflict,
constantly pulling in opposite directions. In practice, an important assumption which translators entertain seems to be one
epitomized by something, Nida said many years ago, echoing Jakobson (1959): ‘Anything which can be said in one language
can be said in another, unless the form is an essential element of the message’ (Nida and Taber 1969:4).

TreroTiem Ty W AT Wihen SR SHOR SATHTR WUl 3 SR AT ¢ (96-100)

UEel BEA 9 oY % Aniae favemw W om $iEg e, Reeem e ot weay fgm % ot W
STIATE HAgeAdl & TEY U] T8 hE 0 28 Tgeddl W T R WWd & W A% W SFFHg B AR T
2 o ST TT 2 o vegfa @ A St = 9ol iRt = w9 4 38 whonfim =@ 31 fmma: o0 7
T 1 AT ot TfEET i, Iag § @eged W ©nfid B b aeenat i, sk 5@ fwa i 6 ged
T AR T8 FRF FH 319 H TG T 2 IR e 9y F = = Ruiia w2

T @ W ft 75w Fi 75 TF aw o weefa @ o § ot ogEar | e SR S @ Fesea A
T 3 (T W TT & WA+ 576 50 W 5 %8 994 a|) IH1 TR ST H YU STasieaar W
TR & W W el B 9z e 7 A St ghem % s vl 4 e anafar e 1w 2| abtes
TR BT 6 ST SR ST W e Jea g & S sy 2 e 9§ wen et
feafy et 2, 21 omar o g@ A foda B F 91 wd #| sneeies 9 W arae® o ael wEeg
SFAFURUT Bt AT § O AREET TP 39 YHR 2] 2 a9 ed Fand (1959) w1 whieat| w5
1St A e, AR w9 el Gew w1 A @ 1 @, @ W Fo i o W § wm w2 39 gl
9T & ff W W WA 3 (EST 31 e 1969:4))

Given below are two statements

Statement |: Translatabkility and comprehensibility are always opposing each other

Statement Il Anything that can be said in one language can be said in another, provided form is an essential is an important
aspect of the message

In the light of the above statements, choose the most appropriate answer from the options given below



www.prepp.in . repp

Your Personal Exams Guide
(1) Both Statement | and Statement Il are correct (2) Both Statement | and Statement |l are incorrect
(3) Statement | is correct but Statement Il is incorrect (4) Statement | is incorrect but Statement 1l is correct

= g1 e ﬁQTl'C{ ER

FUAL: g TR STaE e S U e W fouda 9 2

FA Il 3 w9 e vem w1 sifverd o 9, @ 1 3o i OF e 9 @ S weea @ 30 e ww d o
ELS R: E ]

IOITh YA o STl §, F19 fau o faeredi 4 4w 3w s 1 994 Sifvr

(1) FEIARIISH i 8
Q)  FoH I AR IIEH T4 3
(8) @A 149 B, Afka svya 11 7/erd 3
(4)  FF 17 2, AR R 119 8

[Question ID = 5842][Question Description = Q100_Linguistics_ SHAAN_20NOV_51_Shift2]
. 1 [Option ID = 22816]
2 [Option ID = 22817]
3 [Option ID = 22818]
. 4 [Option ID = 22819]
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